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Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870243
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7108709575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teaching differs from training and conditioning in so far as it promotes

1. Disciplined drill

2. Critical thinking

3. Steady association
4. Mastery of facts
Options :
71087038281. 1
71087038282. 2
71087038283. 3
71087038284. 4

Question Number : 1 Question Id : 7108709575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. Al H ydior
Options :
71087038281. 1
71087038282. 2
71087038283. 3
71087038284. 4

Question Number : 2 Question Id : 7108709576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the spectrum of teaching methods given below, which are considered dialogic?
A. Laboratory work

B. Demonstration

C. Tutorials

D. Group discission

E. Project work

Choose the correct answer from the options given below

1. Cand D only
2. A and B only
3.B and Conly
4. D and E only



Options :

71087038285. 1
71087038286. 2
71087038287. 3
71087038288. 4

Question Number : 2 Question Id : 7108709576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038285. 1
71087038286. 2
71087038287. 3
71087038288. 4

Question Number : 3 Question Id : 7108709577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify from the following, those features of key behaviours which are contributive to the
effectiveness of teaching

A. Lesson clarity which implies making ideas clear to the learner

B. Questioning-implying fact and concept based questions

C. Probing involving eliciting and soliciting moves

D. Teacher-task orientation with a focus on outcomes of the unit clearly defined

E. Engagement in the learning process which implies the amount of time students devote to
learning

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. B, D and E only
Options :
71087038289. 1
71087038290. 2
71087038291. 3
71087038292. 4

Question Number : 3 Question Id : 7108709577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. Bad A, D IARE
4, H9dB, D 3ARE
Options :
71087038289. 1
71087038290. 2
71087038291. 3
71087038292. 4

Question Number : 4 Question Id : 7108709578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following factors contributing to school learning are termed as social
competence?

A. Motivation

B. Intelligence

C. Social skills

D. Family support

E. Specific abilities of the learner

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band Conly
3.B,Cand D only
4.C, D and E only
Options :
71087038293. 1
71087038294. 2
71087038295. 3
71087038296. 4

Question Number : 4 Question Id : 7108709578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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FrafaRad Geedl § 9 U8l ST &1 9g &1 :

1. HaAA, C3RD
2. BAAA, B IAR C
3. ®aAB, C3RD
4.HaAC, D ARE
Options :
71087038293 1
71087038294. 2
71087038295. 3
71087038296. 4

Question Number : 5 Question Id : 7108709579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Methods of estimating the reliability of a|Description
test

l. Administering the test in one session with

A, Test-retest method : ]
two equivalent halves of the test for correlation

Il. Two or more raters score the test
B. Alternate form method .
independently

, lll. Administering the same test to the same
C. Split-half method , .
group at two different sessions

IV. Administering the two forms of the test to
D. Inter-rater method

the same group at two different sessions

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-IVB-IL,C-I1L,D-1
4AA-1ILB-IV,C-1,D-1I
Options :

71087038297. 1
71087038298. 2
71087038299. 3
71087038300. 4

Question Number : 5 Question Id : 7108709579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087038297. 1
71087038298. 2
71087038299. 3
71087038300. 4

Question Number : 6 Question Id : 7108709580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following research is intervention-based, cyclic in nature and improvement
focused?

1. Case study research

2. Survey research

3. Experimental research
4. Action research
Options :

71087038301. 1
71087038302. 2
71087038303. 3
71087038304. 4

Question Number : 6 Question Id : 7108709580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fofafad § T -9 Y S8 Ufid, I91 UPid R QUR Biad & 2
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2. T3&f0r =Y

3. YONTTHS Y
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Options :
71087038301. 1
71087038302. 2
71087038303. 3
71087038304. 4

Question Number : 7 Question Id : 7108709581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Using an appropriate parametric test in a research project, the researcher finds evidence to
reject the Null hypothesis. In doing so, which type of error is likely

1. Alpha error

2. Beta error

3. Both Alpha and Beta errors
4. Neither Alpha nor Beta error
Options :

71087038305. 1

71087038306. 2

71087038307. 3

71087038308. 4

Question Number : 7 Question Id : 7108709581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038305. 1
71087038306. 2
71087038307. 3
71087038308. 4

Question Number : 8 Question Id : 7108709582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A college/university teacher plans to test his/her substantive research hypothesis in a major
project. Which of the following statements are considered relevant in this regard?

A. Substantive research hypothesis has to clearly specify the relationship among variables
B. Research hypothesis may be directed at finding out differential effects or relationships
C. Null hypothesis should be formulated beforehand

D. There is direct support available for testing the substantive research hypothesis

E. The final decision on the research hypothesis may be reached indirectly by deciding the fate
of the Null hypothesis

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. A B and E only
Options :
71087038309. 1
71087038310. 2
71087038311.3
71087038312. 4

Question Number : 8 Question Id : 7108709582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. Bad A, D IARE
4, BT A, B IARE
Options :
71087038309. 1
71087038310. 2
71087038311. 3
71087038312. 4

Question Number : 9 Question Id : 7108709583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Sampling techniques used in research |Description

A. Simple random sampling . The units are identified in terms of various
specific features identified before drawing a
sample structure

B. Systematic sampling Il. Each unit is given an equal independent chance
of being picked up

C Di . I i lll. The k-interval is obtained by N/n and the units
. Dimensional samplin , ) _
Ping are drawn using the same, where N is population

size and n is desired sample size.

D. Snowball sampling V. First member unit is used to identify the second
unit and so on

Choose the correct answer from the options given below:

T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087038313. 1
71087038314. 2
71087038315. 3
71087038316. 4

Question Number : 9 Question Id : 7108709583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087038313. 1
71087038314. 2
71087038315. 3
71087038316. 4

Question Number : 10 Question Id : 7108709584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Empirico-inductive paradigm in research focuses on meaning-giving subjective
perspectives to depict reality

Reason R: The purpose of research in this paradigm is not to arrive at generalizations but to
discover the reality as lived

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087038317. 1

71087038318. 2

71087038319. 3

71087038320. 4

Question Number : 10 Question Id : 7108709584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038317. 1

71087038318. 2

71087038319. 3

71087038320. 4

Sub-Section Number : 2
Sub-Section Id : 710870244
Question Shuffling Allowed : Yes

Question Id : 7108709585 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage carefully and answer questions that follow

Marketers are reexamining their relationships with social values and responsibilities and with
the wvery Earth that sustains us. As the worldwide consumerism and environmentalism
movement mature, today's marketers are being called on to develop sustainable marketing
practices. Corporate ethics and social responsibility have become hot topics for almost every
business. And few companies can ignore the renewed and very demanding environmental
movement. Every company action can affect customer relationships. Today's customers expect
companies to deliver value in a socially and environmentally responsible way.

The social-responsibility and environmental movements will place even stricter demands on
companies in the future. Some companies resist these movements, budging only when forced
by legislation or organized customer outcries. Forward-looking companies, however, readily
accept their responsibilities to the world around them. They view sustainable marketing as an
opportunity to do well by doing good. They seek ways to profit by serving immediate needs
and the best long-run interest of their customers and communities.

Some companies, such as Patagenia, Ben & Jerry's, Timberland, Method, and others, practice
caring capitalism, setting themselves apart by being civic-minded and responsible. They build
social linkages.

Sub questions

Question Number : 11 Question Id : 7108709586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The present-day marketers have focused on

1. Consumerism

2. Social obligations

3. Sustaining their business practices
4. Competitive business

Options :

71087038321. 1

71087038322. 2

71087038323. 3

71087038324. 4

Question Number : 12 Question Id : 7108709587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concern for today's society centres on

1. Marketing strategies

2. Customer relations

3. Corporate ethics

4. Delivery of value for money
Options :

71087038325. 1

71087038326. 2

71087038327. 3

71087038328. 4

Question Number : 13 Question Id : 7108709588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What do farsighted companies prefer?

1. Sustainable marketing

2. Legislative compulsion

3. Organised consumer pressure
4. Status quo in the market
Options :

71087038329. 1

71087038330. 2

71087038331. 3

71087038332. 4

Question Number : 14 Question Id : 7108709589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, sustainable marketing is perceived as

1. Immediately profitable

2. Community fallacy

3. Doing good to community as an opportunity
4. Long-term burden to society as a difficult issue
Options :

71087038333. 1

71087038334.2

71087038335. 3

71087038336. 4

Question Number : 15 Question Id : 7108709590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Caring capitalism is inclusive of

A. Make profit by ignoring social demands

B. Being civic-minded

C. Forging social linkages

D. Budge when there is a legislative nudge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087038337. 1
71087038338. 2
71087038339. 3
71087038340. 4

Question Id : 7108709585 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 7108709586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038321. 1

71087038322. 2

71087038323. 3

71087038324. 4

Question Number : 12 Question Id : 7108709587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIS & TH & i dl &1 dgleg o -
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ENEHIEREIRERI)
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Options :

71087038325. 1
71087038326. 2
71087038327. 3
71087038328. 4

Question Number : 13 Question Id : 7108709588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038329. 1
71087038330. 2
71087038331. 3
71087038332. 4

Question Number : 14 Question Id : 7108709589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U=se & HUR G4 faUuH &l S E 0 8 I 9l 6 -
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3. U HaWR & ©U H FHEE & U =81 &l
4. U% ST g & ©U & TS R g i
Options :

71087038333. 1

71087038334. 2

71087038335. 3

71087038336. 4

Question Number : 15 Question Id : 7108709590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. FAAA AR D
Options :
71087038337. 1
71087038338. 2
71087038339. 3
71087038340. 4

Sub-Section Number : 3
Sub-Section Id : 710870245
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 7108709591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept ‘fraction of selection’ in classroom communication is determined by the
expectation of reward related to

1. Efforts needed

2. Reviews needed

3. Peer pressure needed
4. Time-lag needed
Options :

71087038341. 1
71087038342. 2
71087038343. 3
71087038344. 4

Question Number : 16 Question Id : 7108709591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038341. 1
71087038342. 2
71087038343, 3
71087038344, 4

Question Number : 17 Question Id : 7108709592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Efficacy of written communication depends upon

A. Lengthy presentation

B. Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3.C, D and F only
4.D,Eand F only
Options :
71087038345. 1
71087038346. 2
71087038347. 3
71087038348. 4

Question Number : 17 Question Id : 7108709592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. PHaAC, D 3R F
4, HAAD, EARF
Options :
71087038345. 1
71087038346. 2
71087038347. 3
71087038348. 4

Question Number : 18 Question Id : 7108709593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques

Reason R: In teacher-centric communication, students tend to become passive listeners
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038349. 1

71087038350. 2

71087038351. 3

71087038352. 4

Question Number : 18 Question Id : 7108709593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038349. 1

71087038350. 2

71087038351. 3

71087038352. 4

Question Number : 19 Question Id : 7108709594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Type of communication Characteristics

A. Intra-personal l. Between persons

B. Inter-personal Il. within a small organisation

C. Group lll. Large number of unknown audience
D. Mass IV. Within oneself

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

71087038353. 1
71087038354. 2
71087038355. 3
71087038356. 4

Question Number : 19 Question Id : 7108709594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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g f[aeul § § 9al ST &1 90 31 :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
71087038353. 1
71087038354. 2
71087038355. 3
71087038356. 4

Question Number : 20 Question Id : 7108709595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement |I: Impersonal communication is invariably considered the best solution in a
classroom environment

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087038357. 1

71087038358. 2

71087038359. 3

71087038360. 4

Question Number : 20 Question Id : 7108709595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038357. 1

71087038358. 2

71087038359. 3

71087038360. 4

Question Number : 21 Question Id : 7108709596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given three numbers, first is twice the second and is half of the third. If the average of three
numbers is 56, then the difference of first and third number is

1. 12

2. 24

3. 36

4.48

Options :
71087038361. 1
71087038362. 2
71087038363. 3



71087038364. 4

Question Number : 21 Question Id : 7108709596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e 7 Teae € et ) uec T gudl O @ gl & oYl de e @i el 81 afg et
TEH13HT D1 3HTEd 56 B dl UGl 3R IRl H@A1 B 3R I -

1.12

2. 24

3.36

4. 48

Options :
71087038361. 1
71087038362. 2
71087038363. 3
71087038364. 4

Question Number : 22 Question Id : 7108709597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
2,10, 26, 50,

1. 78

294

3.82

4.104
Options :
71087038365. 1
71087038366. 2
71087038367. 3



71087038368. 4

Question Number : 22 Question Id : 7108709597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2,10, 26,50 ___ B 4@ H 3FTd 3Hep BT (e &1 -

1. 78

294

3.82

4.104
Options :
71087038365. 1
71087038366. 2
71087038367. 3
71087038368. 4

Question Number : 23 Question Id : 7108709598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A man in a train notices that he can count 31 telephone poles in one minute. If the poles are at
equal intervals of 50m, what is the speed of the train?

1. 50 km/hour
2. 60 km/hour
3. 80 km/hour
490 km/hour
Options :

71087038369. 1
71087038370. 2
71087038371. 3
71087038372. 4



Question Number : 23 Question Id : 7108709598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& H 911 5T U@ ATGH! F1feq a1 ¢ [ a8 TP e o 31 SoieH & 9l & T @i o1 ofe
EH 50 Hiex St Fafd gt W ol dl ¢ & Wis | il 2

1. 50 Tt / Wfcder
2. 60 T A1, / Ufcden
3. 80 f A1, / ufeden
4, 90 T #1. ; ufada
Options :
71087038369. 1
71087038370. 2
71087038371. 3
71087038372. 4

Question Number : 24 Question Id : 7108709599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of Rs.50,000.00 is invested in a bank deposit for 1 year at an interest rate of 10% per
annum, compounded on a half-yearly basis. What is the amount of interest at the end of 1
year?

1. 5125

2. 5250

3. 5500
45150
Options :
71087038373. 1
71087038374. 2
71087038375. 3



71087038376. 4

Question Number : 24 Question Id : 7108709599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. 50,000/- B IHH dF H 1 A & 10T 10% UTday o &4s U 991 S 7741 | I8 =0T 44 giftia
YR R UR@Gd BidT & dl 1 91d & 3id H <O1e &1 IdH ol g 2

1. 5125

2. 5250

3. 5500
45150
Options :
71087038373. 1
71087038374. 2
71087038375. 3
71087038376. 4

Question Number : 25 Question Id : 7108709600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, what is the next term?

abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. defj
Options :
71087038377. 1
71087038378. 2



71087038379. 3
71087038380. 4

Question Number : 25 Question Id : 7108709600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
7751 31&R1 BT e # 2T U 1 BN
abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. def]
Options :
71087038377. 1
71087038378. 2
71087038379. 3
71087038380. 4

Question Number : 26 Question Id : 7108709601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sequential order of syllogism in Nyaya philosophy is
A. Nigman

B. Udaharana

C. Hetu

D. Upanaya

E. Pratigya

Choose the correct answer from the options given below

1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087038381. 1
71087038382. 2
71087038383. 3
71087038384. 4

Question Number : 26 Question Id : 7108709601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087038381. 1
71087038382. 2
71087038383. 3
71087038384. 4

Question Number : 27 Question Id : 7108709602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the sequential order of a comprehensible sentence in Nyaya philosophy
A. Akanksha

B. Yogyata

C. Tatparya

D. Sanniddhi

Choose the correct answer from the options given below

1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087038385.
71087038386.
71087038387.
71087038388.

AW O~

Question Number : 27 Question Id : 7108709602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I GRHRIRE H d1URR 91 @1 hAdGdl [y -
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D. Gy
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1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087038385.
71087038386.
71087038387.
71087038388.

AW O~

Question Number : 28 Question Id : 7108709603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘To infer rain in the past by perceiving muddy water in the pond’, is

1. PGrvovat anumana

2. Sesvatanuman

3. Both Parvovat anumana and Sesvatanuman
4. Comparison

Options :

71087038389. 1



71087038390. 2
71087038391. 3
71087038392. 4

Question Number : 28 Question Id : 7108709603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
dIeiE o $idsygad Ul & Ud § SR 814 &1 Fwhy Ade- & -

1. 94 SFHH
2. R9ad HTHH
3.1 3R 2 gHf
4. il
Options :
71087038389. 1
71087038390. 2
71087038391. 3
71087038392. 4

Question Number : 29 Question Id : 7108709604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fallacy (hetvabhasha) produced in the conclusion due to the repudiation of Sadhya by
Hetu is known as

1. Savyabhichara
2. Viruddha

3. Satpratipaksha
4. Asiddha
Options :
71087038393. 1



71087038394. 2
71087038395. 3
71087038396. 4

Question Number : 29 Question Id : 7108709604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. JAHAR
2. faes
3. gaufdus
4, &g

Options :

71087038393. 1
71087038394. 2
71087038395. 3
71087038396. 4

Question Number : 30 Question Id : 7108709605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are four propositions. Two of them are related in such a way that they cannot be
true, although they can be false. Select the code that states those two propositions

A, All men are honest

B. No men are honest

C. Some men are honest

D. Some men are not honest

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087038397. 1
71087038398. 2
71087038399. 3
71087038400. 4

Question Number : 30 Question Id : 7108709605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087038397. 1
71087038398. 2
71087038399. 3
71087038400. 4

Sub-Section Number : 4
Sub-Section Id : 710870246
Question Shuffling Allowed : Yes

Question Id : 7108709606 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (31 to 35)

Question Label : Comprehension



Consider the data in the given table and answer the questions that follow

The following table is on the Expenditures of Institution (in lakh Rupees) per annum over the

given years
Heads of Expenditure (in lakhs)
Salary  of Interest  on
Year TransportBonuses Taxes
Staff Loan
2015 285 98 3 23.4 83
2076 347 112 2.52 32.5 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 494 93

Sub questions

Question Number : 31 Question Id : 7108709607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average amount of interest per year that the institution had to pay?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087038401. 1
71087038402. 2
71087038403. 3
71087038404. 4



Question Number : 32 Question Id : 7108709608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount of bonus paid by the institution during the given period is approximately
what percent of the total amount of salary paid during this period?

1. -3 %
2. -4 %
3. -7 %
4, -1%
Options :
71087038405. 1
71087038406. 2
71087038407. 3
71087038408. 4

Question Number : 33 Question Id : 7108709609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Total expenditure on all these items in 2015 was approximately what per cent of the total
expenditure in 20197

1. 84.63 %
2.58 %
3.91%

4.73 %
Options :
71087038409. 1
71087038410. 2
71087038411. 3
71087038412. 4



Question Number : 34 Question Id : 7108709610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The total expenditure of the institution on these items during the year 2017 is

1. 624.6

2. 524.44

3. 544.44

4. 591.41
Options :
71087038413. 1
71087038414. 2
71087038415. 3
71087038416. 4

Question Number : 35 Question Id : 7108709611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio between the expenditure on taxes for the years 2016 and 2018, is approximately

1. 17:11
2.27:22
3.31:27
4, 19:17
Options :
71087038417. 1
71087038418. 2
71087038419. 3
71087038420. 4

Question Id : 7108709606 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (31 to 35)
Question Label : Comprehension

= 3t 7S IR FT sEEET By iR fSA T aul & Tw & at (@ Ul 7) &7 uiaad
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aﬁ 0 .
HHAMG BT | gfaed a9 U R Y G
dod
2015 288 = ta] 3.00 23.4 83
2016 342 112 2.52 325 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 364 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 7108709607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T=yT &l ufaay ofied fad=1 =T gl USdl 6 ?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087038401. 1
71087038402. 2
71087038403. 3
71087038404. 4

Question Number : 32 Question Id : 7108709608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sfearad afd o T 5 9199 31 S o U3 YeH 31 ¢ 98 94 3@y ¥ Ued &d dad &1 A
BT ATHIT [T UfRd 8 2

1. -3 %
2 -4 %
3. -7 %
4. -1%
Options :
71087038405. 1
71087038406. 2
71087038407. 3
71087038408. 4

Question Number : 33 Question Id : 7108709609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2015 H 3 9 Hal UR 001 41 §dd o6 2019 & ol Adl &I TTH fdha-1 Hiard o ?

1. 84.63%

2. 58%

3.91%

4. 73%
Options :
71087038409. 1
71087038410. 2
71087038411. 3
71087038412. 4

Question Number : 34 Question Id : 7108709610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2017 AT B HAAGH FA T © -

1. 624.6
2.524.44

3. 544.44

4. 591.41
Options :
71087038413. 1
71087038414. 2
71087038415. 3
71087038416. 4

Question Number : 35 Question Id : 7108709611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 17:11
2.27:22
3.31:27

4. 19:17
Options :
71087038417. 1
71087038418. 2
71087038419. 3
71087038420. 4

Sub-Section Number : 5
Sub-Section Id : 710870247
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 7108709612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation loT?

1. International Office of Tourism

2. Internet of Things

3. Internet of Think

4, Instrument of Telecommunication
Options :

71087038421. 1

71087038422. 2

71087038423. 3

71087038424. 4

Question Number : 36 Question Id : 7108709612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
loT Tt &1 gul Y (b BiH) |18 ?

1. SERATAT HIHH HH A
2. 3ee HIp g

3. 32 HHE U@

4. 3EEHe AP CHlnHIGTH
Options :

71087038421. 1

71087038422, 2

71087038423. 3

71087038424. 4

Question Number : 37 Question Id : 7108709613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which type of memory holds the computer startup routine?

1. RAM

2. WAN

3. ROM

4. Cache
Options :
71087038425. 1
71087038426. 2
71087038427. 3
71087038428. 4

Question Number : 37 Question Id : 7108709613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AR TUH

2. S=Y U T
3. 3R I TH
4. B
Options :
71087038425. 1
71087038426. 2
71087038427. 3
71087038428. 4

Question Number : 38 Question Id : 7108709614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Total number of mobile users in India is increasing rapidly

Reason R: The cost of the mobile is decreasing

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

71087038429. 1
71087038430. 2
71087038431. 3
71087038432. 4

Question Number : 38 Question Id : 7108709614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -
HUBHU (A) : HRA & A5 TaRTHdlsi &1 el duil I 96 6l ol
d® (R) : AESd 1 $IFd $H 8l 51 o

IWdd HYHT & et H Fgifdd fddel d I affie 3ugdd 3w 9 -
1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬁ?(m, (A) BT eI SRS T8l o

3. cﬁjlﬂl‘a"r'ﬁtm[ﬁ}wél

4. (A) TTEd 8 TR (R) Tel B

Options :

71087038429. 1

71087038430. 2

71087038431. 3
71087038432. 4

Question Number : 39 Question Id : 7108709615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The file extension of Microsoft (MS) Word document in office 2007 is

1. .docx

2. .png
3. .doc

4..jpg
Options :
71087038433. 1
71087038434. 2
71087038435. 3
71087038436. 4

Question Number : 39 Question Id : 7108709615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

31tpY 2007 H HIFHIHIE (THUH) TS SIFgHT B BI5d [GER © -

1. .docx

2. .png

3. .doc

4..jpg
Options :
71087038433. 1
71087038434. 2
71087038435. 3
71087038436. 4

Question Number : 40 Question Id : 7108709616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the binary number for decimal number 97

1. 1100

2. 1001
3.0111

4. 1011
Options :
71087038437. 1
71087038438. 2
71087038439. 3
71087038440. 4

Question Number : 40 Question Id : 7108709616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST G019 B feeR U 1 & 7

1. 1100

2. 1001
30111
41011
Options :
71087038437. 1
71087038438. 2
71087038439. 3
71087038440. 4

Question Number : 41 Question Id : 7108709617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The phenomenon of ozone depletion is caused by

A. Volatile chlorinated hydrocarbons

B. Emissions from thermal power plants

C. Combustion of urban waste

D. Excessive use of nitrogen-containing fertilizers

Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only

3. A, Band Conly
4. A, Cand D only
Options :
71087038441. 1
71087038442. 2
71087038443. 3
71087038444. 4

Question Number : 41 Question Id : 7108709617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HISH URd & &R0 & HRU & -
A, IRl RIRHES giEgidle-

B. YH T UTa iel § Joe

C. 38 d%¢ @I G
D. AT oA HIAF e Bl SATEd UG
=< fGu e foTcal # € U8l SR &1 99 @9 ;

1. Had A, B3R D
2. ®ad A AR D
3. @A A, B AR C
4. HAAA, C3RD
Options :
71087038441, 1
71087038442, 2
71087038443, 3
71087038444, 4

Question Number : 42 Question Id : 7108709618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following was NOT an issue to be addressed under Millenium Development
Goals?

1. Child mortality

2. Environmental sustainability
3. Human rights

4. Primary education

Options :



71087038445. 1
71087038446. 2
71087038447. 3
71087038448. 4

Question Number : 42 Question Id : 7108709618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiaad 3 9 U o1 91 981 e & forad Geuife: Ay aedl & ded SH1YH fardl o T 2

1. RR[ e
2. JgiaRuig SH=gar

3. OHg HfUHR
4, UTYiHe T2ra

Options :

71087038445. 1
71087038446. 2
71087038447. 3
71087038448. 4

Question Number : 43 Question Id : 7108709619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contributions to per
capita emissions of carbon dioxide emissions at present

A. India

B. China

C. USA

D. Japan

Choose the correct answer from the options given below

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087038449. 1
71087038450. 2
71087038451. 3
71087038452. 4

Question Number : 43 Question Id : 7108709619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FAHH H BTE- SIS3Ha58 Iovi & Ufdadiad ool H GTGH o dld G2 & JHaig HH I
‘\q—fﬂmﬁ usalaﬁ:

A. HIRd

B. A

C. §gad Y 3R

D. SITUH

4 [9@eul § 9 981 IR @1 984 B ;

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087038449. 1
71087038450. 2
71087038451. 3
71087038452. 4

Question Number : 44 Question Id : 7108709620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the contemporary environmental discourse, small hydropower plants are
prefered over large hydropower plants

Reason R: Installation of a small hydropower plant is less capital intensive compared to a large
hydropower plant

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087038453 1

71087038454. 2

71087038455. 3

71087038456. 4

Question Number : 44 Question Id : 7108709620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -

HYDHYA (A) : GHDICA FaTaRU Tdial H a8 grEsuar Wil W oY gl3e/ular Wil ol adgd
MR

dd (R) : 93 BISSIUIGR Wil &I qo-l § T SI3SIulaR Wicl &I |1 § & Yol o idi & |
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087038453. 1

71087038454. 2

71087038455. 3

71087038456. 4

Question Number : 45 Question Id : 7108709621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Day time noise standard prescribed for residential areas in India is

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087038457. 1
71087038458. 2
71087038459. 3
71087038460. 4



Question Number : 45 Question Id : 7108709621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

URd H fardig &Ff & e g § g R s oM@ & -

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087038457. 1
71087038458. 2
71087038459. 3
71087038460. 4

Question Number : 46 Question Id : 7108709622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Takshashila, an ancient centre for higher learning in India, was declared as a heritage site by
the UNESCO in

1. 1980
2.1982

3. 1984

4. 1986
Options :
71087038461. 1
71087038462. 2
71087038463. 3
71087038464. 4



Question Number : 46 Question Id : 7108709622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd H I SR & W ds & T H T8I @1 G401 gRI fhd I8 H eRIgy ¥ & $U H
Hifyd favar mar 2

1. 1980

2. 1982
3.1984

4. 1986
Options :
71087038461. 1
71087038462. 2
71087038463. 3
71087038464. 4

Question Number : 47 Question Id : 7108709623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rashtriya Uchchatar Shiksha Abhiyan (RUSA), a Centrally Sponsored Scheme aiming at
providing strategic funding to eligible state higher educational institutions, was launched in

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087038465. 1
71087038466. 2
71087038467. 3
71087038468. 4



Question Number : 47 Question Id : 7108709623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

APTY IR TR A (3R Y TH Q) S U iy Wifod ioHT & 3R forder 3§30 U sy
FeaeR A&t YR h! YR fad GIe0 Y Sl &, BT YHRY B fbdn 7197 o1 7

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087038465. 1
71087038466. 2
71087038467. 3
71087038468. 4

Question Number : 48 Question Id : 7108709624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gross Enrolment Ratio (GER) in higher education is the total enrolment in higher education,
regardless of age expressed as a percentage to the eligible official population in a given
school year. Which of the following age groups explain the eligible official population in this
regard?

1. 16-21 years
2. 17-22 years
3. 18-23 years
4. 19-24 years
Options :

71087038469. 1
71087038470. 2



71087038471. 3
71087038472. 4

Question Number : 48 Question Id : 7108709624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JR & H I AMie- UM (GisHR) Iwda [RI&TH $d 39 FRUs THi$ Ued Tod a4
o U HYSRS o9 G & Uiad & &4 H Hfiedad gidl £ 1 39 Jay ¥ [Rufiad § 4 oH-
1 31 Y98 UH ATEh1RE S &I Gidl & ?

1.16-21 a4
2.17-2234
3.18-2394
4.19-24 7Y
Options :
71087038469. 1
71087038470 2
71087038471, 3
71087038472. 4

Question Number : 49 Question Id : 7108709625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements best describe value education?

A. It is a course in moral science

B. It talks about rewards and punishments for one's own actions

C. Students observe and imitate adult behaviours, particularly that of their parents
D. Students investigate and explore their own inner self

E. It encourages students to fix their place in their life

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087038473. 1
71087038474. 2
71087038475.3
71087038476. 4

Question Number : 49 Question Id : 7108709625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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c. faemif fa<iae 3o Arar-fd & sfadie- @id § 3R 3= 9 Ui oddeR diad g
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R E
4. HAAA, D ARE
Options :
71087038473, 1
71087038474. 2
71087038475. 3
71087038476 4

Question Number : 50 Question Id : 7108709626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

ICT Human

Resource Development

Initiatives of Ministry of

Their benefits for students and researchers

A, SWAYAM

. To get hands-on experience in embedded
system

B. SWAYAMPRABHA

Il. To get free books and curriculum-based e-
content

C. e-PG Pathshala

. To watch high-quality educational
programmes 24x7

0. e-Yantra

IV. To earn credits through online courses

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4A-LB-ILC-1ILD-1V
Options :

71087038477. 1
71087038478. 2
71087038479. 3
71087038480. 4

Question Number : 50 Question Id : 7108709626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D.3- 41 V. AR DY & SR hise U Sl
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TA-NLB-IV,C-1,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-1L,B-II,LC-1I,D-1V
Options :

71087038477. 1
71087038478. 2
71087038479. 3
71087038480. 4

PART II Folk Literature

Section Id : 710870238
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92

Number of Questions to be attempted : 92



Section Marks : 200

Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870248
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 7108709627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to A. K. Ramanujan's Classification of Genres 'Akam’ means

1. Interior - Exterior performance
2. Interior household performance
3. Historical domestic performance
4. Public household performance
Options :

71087038481. 1

71087038482. 2

71087038483. 3

71087038484. 4

Question Number : 51 Question Id : 7108709627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T. . IHEH & a3l & ool & AR ThH &1 374 8 :

1. Hiddl-a1 wegl=
2. HieRT 9] WexH
3. UfeTie TR weiA
4, Yrdvii-d o TerH

Options :



71087038481. 1
71087038482. 2
71087038483. 3
71087038484. 4

Question Number : 52 Question Id : 7108709628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Folklore is the product of the collectively creating folk-soul” is the notion connected with :

1. Romanticism
2. Functionalism
3. Structuralism
4, Qrientalism
Options :
71087038485. 1
71087038486. 2
71087038487. 3
71087038488. 4

Question Number : 52 Question Id : 7108709628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“didbaral GHfed €4 § did AIH & Yol Bl 3dIG 6" - I8 foud Jefdd 8 :

1. WIGAAG
2. YpHaG

3. §EEG

4, YA faamarg
Options :
71087038485. 1
71087038486. 2



71087038487. 3
71087038488. 4

Question Number : 53 Question Id : 7108709629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who defined folklore as "the study of the oral traditions and belief, custom and poetry of the
folk"?

1. Charles Francis Potter
2. Axel Olrik

3. CW. von Sydow

4, George M. Foster
Options :

71087038489. 1
71087038490. 2
71087038491. 3
71087038492. 4

Question Number : 53 Question Id : 7108709629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fgfafad o O fogd diead &1 die & Diee gegws ud fayrg, dd-Ras td @ &
T & T H* GRyIfG e o :

1, ITCH THIY dicd
2. U Hlfcd

3. i sscyg dist

4. ol 0. IR
Options :
71087038489. 1
71087038490. 2



71087038491. 3
71087038492. 4

Question Number : 54 Question Id : 7108709630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The folk group which emerged in globalization due to cybernetics known as:

1. Internauts

2. Digital Natives
3. Cyborgs

4, Homo Ludens
Options :
71087038493. 1
71087038494. 2
71087038495. 3
71087038496. 4

Question Number : 54 Question Id : 7108709630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Grga- e (GdiAdh) & HRUT ILHI0 § ol did JHg &1 Ay §3, 390! [od 1 4 FH
Gﬂ?ﬂ%:

1. 3&AICH

2. fefetes A
3. graard

4. B g
Options :
71087038493 1
71087038494, 2
71087038495. 3



71087038496. 4

Question Number : 55 Question Id : 7108709631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the person who was one of the founders of the British Folklore Society:

1. William John Thoms
2. James G. Frazer

3. E. B. Tylor

4. Andrew Lang
Options :

71087038497. 1
71087038498. 2
71087038499. 3
71087038500. 4

Question Number : 55 Question Id : 7108709631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Faftiad 3 9 39 ofdd ®1 UgaH Siug, §l 5oy BieaRk Sead & $®is! § 8 U Ul :

1. faferas <9 Yisy
2. O off. TholR

3. 580 ¢

4, T3g A
Options :
71087038497. 1
71087038498. 2
71087038499. 3
71087038500. 4



Question Number : 56 Question Id : 7108709632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
R. S. Boggs used 'prose narrative' for Folklore Classification. Which one of the following is
NOT on his list?

1. Ballad

2. Myth

3. Legend

4. Folktale
Options :
71087038501. 1
71087038502. 2
71087038503. 3
71087038504. 4

Question Number : 56 Question Id : 7108709632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
¥R, U, 17 H didldi & F e & [T Temer &1 IuanT far o ; Fafaiad J ° o
ST T AT

1. YT T

2. fus

3. GAmyl

4, AHaT
Options :
71087038501. 1
71087038502. 2
71087038503. 3
71087038504. 4



Question Number : 57 Question Id : 7108709633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In defining 'Folk’, Gramsci popularised one of the following concepts to refer to folk as:

1. Petite Bourgeoisie
2. Oppressed Masses
3. Urban Proletariat
4. Subaltern

Options :
71087038505. 1
71087038506. 2
71087038507. 3
71087038508. 4

Question Number : 57 Question Id : 7108709633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl A A ®f uftyiftd &= & o FefaRad § O g saumon & die 4 defifd e &
T A i s=ma -

1. U2 gatafreil
2. Gffd o

3. B4 BT
4, Y
Options :
71087038505. 1
71087038506. 2
71087038507. 3
71087038508. 4

Question Number : 58 Question Id : 7108709634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The scientific study of folklore, according to Von Sydow, began with the collection of myths
through questionnaires by

1. Wilhelm Mannhardt
2. James G. Frazer

3. Wilhelm Grimm

4, Max Muller
Options :

71087038509. 1
71087038510. 2
71087038511. 3
71087038512. 4

Question Number : 58 Question Id : 7108709634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
di disl & uR fda- yyaferdl & d1ed o fAye! & I98U & 1Y diddldl @ dgl-d
HG WA fohar ot

1. facen #=rge
2. SR off. ThoiR
3. facgw di

4. By HeR
Options :
71087038509. 1
71087038510. 2
71087038511. 3
71087038512. 4

Question Number : 59 Question Id : 7108709635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The classification of epics into, "literary, semi literary and oral”, is done by

1. Felix J. Qinas

2. Heda Jason

3. Lauri Honko

4, Theodore M. Andersson
Options :

71087038513. 1
71087038514. 2
71087038515.3
71087038516. 4

Question Number : 59 Question Id : 7108709635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafaa # 9 fou- gerarsl &1 arffeo aifefde, se-uiefds ok fikas & &9 fogr or

1. ThfcTad o, 31519
2. 831 g

3. ORI Bl

4, T3fieR uE, Ua3a
Options :
71087038513 1
71087038514, 2
71087038515. 3
71087038516. 4

Question Number : 60 Question Id : 7108709636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct group of famous characters of folktales

1. Vasuki Nag, Duryodhan, Birbal

2. Dula Bhatti, Gopal Bhand, Tenali-Ramalinga
3. Dula Bhatti, Ashwathama, Khamba

4. Karan, Raja Rasalu, Katama Raju

Options :

71087038517. 1

71087038518. 2

71087038519. 3

71087038520. 4

Question Number : 60 Question Id : 7108709636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

iyl & FRfRad faeard uEl & 98! YHE &1 UgdH DI ;

1. I, gO1eH, SRad
3. GOl HET, IYUTHT, ]

4, 0T, T[Sl THI, PIeH I,
Options :

71087038517. 1
71087038518. 2

71087038519. 3

71087038520. 4

Question Number : 61 Question Id : 7108709637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who of the following considered genres as heuristic constructs?

1. Edurin S. Hartland
2. Richard Bauman
3. Roger Abrahams
4, Max Weber
Options :
71087038521. 1
71087038522. 2
71087038523. 3
71087038524. 4

Question Number : 61 Question Id : 7108709637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fFafaiad 5 9 foed el @1 sravureEs [iHag & 0 d amr 912

1. TSfdH Ty Eéds
2. =S s A

3. AR HEEH
4, HE 4R
Options :
71087038521. 1
71087038522. 2
71087038523. 3
71087038524. 4

Question Number : 62 Question Id : 7108709638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The body of informal knowledge used to get the job done is the core of occupational folklore
and Elliott Oring terms this as :

1. A cultural scene

2. The canon of work technique
3. Verbal art in the workplace
4. Occupational jargon

Options :

71087038525. 1

71087038526. 2

71087038527. 3

71087038528. 4

Question Number : 62 Question Id : 7108709638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
H1 B & 8 UgEd 681 71 SIS 9 &1 & Aaddd didbaldl B 5d 6 ; Side
T 5] Y EUHAAIE

1. U Tipidd =Y

2. B gfda ATy

3. & ¥d H Afead Hal
4, YIS FRIHTET
Options :

71087038525. 1
71087038526. 2
71087038527. 3
71087038528. 4

Question Number : 63 Question Id : 7108709639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Myth- ritualist theory challenges the ordinary assumption of a gap in religion between:

1. Superstitions and worldview
2. Savage mind and religion

3. Beliefs and practices

4. Peasant dogmas and animism
Options :

71087038529. 1

71087038530. 2

71087038531. 3

71087038532. 4

Question Number : 63 Question Id : 7108709639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frue-proisag gid o o e did 3dR &I WUR 979l &I gl ¢dl & :

1. UMY 3R faye®

2. Ty O AR ¢

3. Tay 3R gyIt

4. PYD g64d IR Hiadg
Options :

71087038529. 1
71087038530. 2
71087038531, 3
71087038532. 4

Question Number : 64 Question Id : 7108709640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Polygenesis diffusion theory rests on the paradigm of

1. Culture contact
2. Psychic unit

3. Migration

4. Superimposition
Options :
71087038533. 1
71087038534. 2
71087038535. 3
71087038536. 4

Question Number : 64 Question Id : 7108709640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qgoHdIG & QR B GSid oy gl IR 3eRd 8 ;

1. Gpfa-gmds
2. AFN® 3815
3. UgHH

4, LRG0
Options :
71087038533. 1
71087038534. 2
71087038535. 3
71087038536. 4

Question Number : 65 Question Id : 7108709641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Stith Thompson classified the "Arabian Nights' in the tale type of

1. Marchen

2. Hero tale

3. Memorate
4, Novelle
Options :
71087038537. 1
71087038538. 2
71087038539. 3
71087038540. 4

Question Number : 65 Question Id : 7108709641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ey YT A RfE A5y @ (64 ISR &1 &Yl & w4 J aifigd faar ol ;

1. T3 Yl

2. U Y|
3. HHRE

4, Algeil
Options :
71087038537. 1
71087038538. 2
71087038539. 3
71087038540. 4

Question Number : 66 Question Id : 7108709642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is a form of a tale which purports to be an account of an
extraordinary happening believed to have actually occurred in the Iceland folklore?

1. Marchen

2. Blason Populaire
3. Bylina

4. 5aga

Options :
71087038541. 1
71087038542. 2
71087038543. 3
71087038544. 4

Question Number : 66 Question Id : 7108709642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HITc Sl didardl § aRdide U 4 gfed A ofiH aTell SfTYRY ge-1 & guid & diedd drd &Yl
Y B (g 9 31 o

1. T3 Yl

2. & UIgeis
3. SIgfeAT
4.1

Options :
71087038541. 1
71087038542. 2
71087038543. 3
71087038544. 4

Question Number : 67 Question Id : 7108709643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Albert Lord, much of oral-traditional poetry of Beowulf, was under the spell of

1. Magic tale origin
2. Mythic origin

3. Novella origin

4. Memorate origin
Options :
71087038545. 1
71087038546. 2
71087038547. 3
71087038548. 4

Question Number : 67 Question Id : 7108709643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hefad dls & YR [d3lare & O -IRTNS e R e HE § ;

1. Slgs &Yl 34
2. J§HdId] 3&d
3. Fllda 3&d

4, TqRe 3%d
Options :
71087038545 1
71087038546, 2
71087038547. 3
71087038548. 4

Question Number : 68 Question Id : 7108709644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who is considered as the 'Darwin of Oral Literature?

1. John Milton

2. Albert Lord

3. Milman Parry

4, Thomas Malthus
Options :
71087038549. 1
71087038550. 2
71087038551. 3
71087038552. 4

Question Number : 68 Question Id : 7108709644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafeRad # 9 feue! Higs Hiigd o1 SifdT AFTSIag ?

1. 94 fieed
2. 3fcde dls
EREECEE ATl
4, 4T9g 919
Options :
71087038549. 1
71087038550. 2
71087038551. 3
71087038552 4

Question Number : 69 Question Id : 7108709645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The type of structural analysis in folklore which describes the pattern based upon a priori
latent content principle is termed as:

1. Synchronic
2. Syntagmatic
3. Diachronic
4. Paradigmatic
Options :
71087038553. 1
71087038554. 2
71087038555. 3
71087038556. 4

Question Number : 69 Question Id : 7108709645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
didhdld] 8 IS [y &1 off YR Uh Yddd| Uesd [Jugay] fgid-H1aid ufaqH &1
9uiq $d &, 34 1 Hel T & ;

1. Uh DD

2. [ s ad®
3. PIAHHD

4, BYTIRITd
Options :
71087038553. 1
71087038554. 2
71087038555. 3
71087038556. 4

Question Number : 70 Question Id : 7108709646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who stated that "orient is textualized and susceptible of virtuous reading"?

1. Homi Bhabha
2. Gayatri Spivak
3. Edward Said
4, Stuart Hall
Options :
71087038557. 1
71087038558. 2
71087038559. 3
71087038560. 4

Question Number : 70 Question Id : 7108709646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FafaRad o 4 frg- @er ol fa Ui Urediad ¢ SR 9N 18 & fod Jguria g1

1. BIET HTHT
2, Mo FEqars

3. USds UG
4, TIHE I
Options :
71087038557. 1
71087038558. 2
71087038559. 3
71087038560. 4

Question Number : 71 Question Id : 7108709647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Van Gennep intended the term "rite of passage” to be used also for those associated with

1. Festivals

2. Ceremonies

3. Climate change
4. Seasonal changes
Options :
71087038561. 1
71087038562. 2
71087038563. 3
71087038564. 4

Question Number : 71 Question Id : 7108709647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o Y &1 I5=Y Silad I UShR' UG &1 YA FYfaRad U ofe 3fdf § & ot o1

1. 3cdid

2. H-BIH

3. Seiarg uRacd
4. %d uRadq
Options :
71087038561. 1
71087038562. 2
71087038563. 3
71087038564. 4

Question Number : 72 Question Id : 7108709648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A given performance is a "particularization of the structure of tradition, complementary to its
social organisation” is the definition of

1. Cultural performance

2. Ethnography of performance
3. Etic performance

4. Public performance

Options :

71087038565. 1

71087038566. 2

71087038567. 3

71087038568. 4

Question Number : 72 Question Id : 7108709648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
®ls UG 30 GHIMSS WTaH B W &1 GId-1 & [AfRIPIH &1 1 sidl & I8 [had!
TRYWIE ;

1. Gpid® UGH

2. UEgH &I Jalld fdazur
3. AERWSD UG

4, gas-® UerH
Options :

71087038565. 1
71087038566. 2
71087038567. 3
71087038568. 4

Question Number : 73 Question Id : 7108709649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Bauman's work on performance analysis of "keying performance” is deeply indebted to the
ideas of:

1. Barre Toelken

2. Roman Jakobsan
3. Erving Goffman
4. Dan Ben - Amos
Options :
71087038569. 1
71087038570. 2
71087038571. 3
71087038572. 4

Question Number : 73 Question Id : 7108709649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

W= fa=egu & Y H ar3EH &1 B0 YeRH HEfdiad § ¥ feysd [GaRi S uyifad g

1. < 2l

2. T Sihag
3, T MHEEA
4, SH & THIY
Options :
71087038569. 1
71087038570. 2
71087038571. 3
71087038572. 4

Question Number : 74 Question Id : 7108709650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Bauman, performance-based research can yield insights into diverse facets of the
interrelation of:

1. Costume use
2. Language use
3. Material use
4, Phonetic use
Options :
71087038573. 1
71087038574. 2
71087038575. 3
71087038576. 4

Question Number : 74 Question Id : 7108709650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FI3H & ITUR, Ye=H 1uid iy Fafaiad # U [y fafgy dal & ¢ & sfades & s H
g4 THPR %?W% :

1. T Gl BT UGAT
2. THT &1 T

3. SUIGH! &1 UarT
4, SFITHS YN
Options :
71087038573. 1
71087038574 2
71087038575. 3
71087038576. 4

Question Number : 75 Question Id : 7108709651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hypertext is a form of electronic writing which is invented by :

1. Dennis Tedlock

2. Hermann Bausinger
3. Ted Melson

4, Lev Manovich
Options :
71087038577. 1
71087038578. 2
71087038579. 3
71087038580. 4

Question Number : 75 Question Id : 7108709651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
93 Ueh UER @I S0a2i-® 0E- 6, 390! @i -gfarad 5 9 - @l & ;

1. 5FY dedld
2. B 3R
3. 28 JagH

4, 09 9IRS
Options :
71087038577. 1
71087038578. 2
71087038579. 3
71087038580. 4

Question Number : 76 Question Id : 7108709652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who defined Folklorism as "material or stylistic elements of folklore in a context which is
foreign to the original tradition™?

1. Lauri Honko

2. Hermann Bausinger
3. Richard Dorson

4. Regina Bendix
Options :

71087038581. 1
71087038582. 2
71087038583. 3
71087038584. 4

Question Number : 76 Question Id : 7108709652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TPpard®! @I dieard & Yifde a1 AGFTd dal B g WO 3 96l & deu 7 Fafafga §
farg- uRHIEG foar 2

1. AR giat

2. B II3fETR
3. = sEA

4 e dfEsE
Options :
71087038581. 1
71087038582. 2
71087038583. 3
71087038584. 4

Question Number : 77 Question Id : 7108709653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In French and Russian discussions, the adaptation of folkloric materials in the high cultural
contexts of music, art and literature is termed as:

1. Folklorism

2. Fakelore

3. Folklorismus
4, Neofolklorism
Options :
71087038585. 1
71087038586. 2
71087038587. 3
71087038588. 4

Question Number : 77 Question Id : 7108709653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
WUl 3R 41 fgda-1 § didaliad 9l & 9iiid, ol AR Jiied o 3= 9ieia® 9g4l d
EYIRU & T PEd © -

Options :

71087038585. 1
71087038586. 2
71087038587. 3
71087038588. 4

Question Number : 78 Question Id : 7108709654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who is regarded by some as the "moral father of the Internet” because of his democratization
of mass communication via the Internet?

1. Liebling Wryly
2. Thomas Paine

3. Allan Thompson
4. Marc Glaser
Options :
71087038589. 1
71087038590. 2
71087038591. 3
71087038592. 4

Question Number : 78 Question Id : 7108709654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
S & HIEH U SHTIR B AIDdiHIb0 HH & BRU 53¢ B (Ul 8 HHT S 82

1. et gt
2. UG U

3. ToH Y98
4. 9 TR
Options :
71087038589. 1
71087038590. 2
71087038591. 3
71087038592. 4

Question Number : 79 Question Id : 7108709655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"The local is fundamental part of the global”, is the core concept of:

1. Glocalisation
2. Globalisation
3. Acculturation
4. Hybridization

Options :

71087038593. 1
71087038594. 2
71087038595. 3
71087038596. 4

Question Number : 79 Question Id : 7108709655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RIF, 3@ &1 §-AET T & - U8 [ua! HEid SauRu g :

1. 3% RIFH
2. dfidur

3. YiEpidd gareA
4. GhLDI
Options :
71087038593. 1
71087038594. 2
71087038595. 3
71087038596. 4

Question Number : 80 Question Id : 7108709656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to UIf Hannerz, "local practices that create culturally relevant contexts for globally
produced commodities”, results in

1. Cultural Globalization

2. Cultural Imperialism

3. Cultural Homogenization
4. Cultural Hybridization
Options :

71087038597. 1
71087038598. 2
71087038599. 3
71087038600. 4

Question Number : 80 Question Id : 7108709656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
3 B & IR d%S IdIed Hie & U Uiife uipide e 394 drd Rawi &
URUMH B3 -

1. Gl adidmul

2. Jipide JHgdrg
3. Gipid® FelTald o
4, YiEpias Hpiel
Options :

71087038597. 1
71087038598. 2
71087038599. 3
71087038600. 4

Question Number : 81 Question Id : 7108709657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The first Digital Library on the internet is:

1. Digital Bibliography and Library Project
2. JSTOR

3. Internet Archive

4. Gutenberg Project

Options :

71087038601. 1

71087038602. 2

71087038603. 3

71087038604. 4

Question Number : 81 Question Id : 7108709657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
$ee W W ugel! f3foed amgsd B
1. TefSied fafsamms! TS dgsl Hivide
2. Sl.GH.E1.311.3R. (JSTOR)

3. ST HH15d

4, TEaR Uloiae

Options :

71087038601. 1

71087038602. 2

71087038603. 3
71087038604. 4

Question Number : 82 Question Id : 7108709658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is the form of epistemological imperialism that began as an
integral part of Europian material civilization and culture?

1. Occidentalism
2. Orientalism

3. Nationalism
4, Colonialism
Options :
71087038605. 1
71087038606. 2
71087038607. 3
71087038608. 4

Question Number : 82 Question Id : 7108709658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TH YR YHegdle &l Ffeiad H T $H 1 4 RIYE Hiide 9ud R G5hid &1 3=
AT e

1. JIHTHATG
2. UIddig

3. JIPaG

4, IUFa9Eg

Options :

71087038605. 1
71087038606. 2
71087038607. 3
71087038608. 4

Question Number : 83 Question Id : 7108709659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Polyandry is the customary law of marriage followed by

1. Nagas

2. Badagas

3. Todas

4. Santhals
Options :
71087038609. 1
71087038610. 2
71087038611. 3
71087038612. 4

Question Number : 83 Question Id : 7108709659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fgfafad o 4 feg gger o dgufd vy faaie &1 URUR® S & ;

1. A1

2. 431

3. e

4, HY1d
Options :
71087038609. 1
71087038610. 2
71087038611. 3
71087038612. 4

Question Number : 84 Question Id : 7108709660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The vehicle of Goddess Lakshmi is

1. Owl

2. Peacock

3. Crow

4. Swan
Options :
71087038613. 1
71087038614. 2
71087038615. 3
71087038616. 4

Question Number : 84 Question Id : 7108709660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&4l dieHl T A AT g ?

1. I

2. ° X

3. PP

489

Options :
71087038613. 1
71087038614. 2
71087038615. 3
71087038616. 4

Question Number : 85 Question Id : 7108709661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Rural Olympics of India are held at

1. Nandgaon, Mathura
2. Kila Raipur, Ludhiana
3. Palamedu, Madurai
4. Junagarh, Bikaneri
Options :

71087038617. 1
71087038618. 2
71087038619. 3
71087038620. 4

Question Number : 85 Question Id : 7108709661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YR H I i6fte g = R AJ[ifed fPuad g ?

1. FEITg, AYX

2. Trar TR, i
3. UTeiHg, WY

4, SANTE, SdHR
Options :

71087038617. 1
71087038618. 2
71087038619. 3
71087038620. 4

Question Number : 86 Question Id : 7108709662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is a genre as well as a character?

1. Heer

2. Pingala

3. Luna

4, Nautanki
Options :
71087038621. 1
71087038622. 2
71087038623. 3
71087038624. 4

Question Number : 86 Question Id : 7108709662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafad o 9 ®H @ u of 8 3R us faem o

1.ER

2. e

3. <o

4. A
Options :
71087038621. 1
71087038622. 2
71087038623. 3
71087038624. 4

Question Number : 87 Question Id : 7108709663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The theory that all knowledge is based on experience derived from the senses is the maxim of:

1. Empiricism

2. Positivism

3. Rationalism

4. Epiphenomenalism
Options :
71087038625. 1
71087038626. 2
71087038627. 3
71087038628. 4

Question Number : 87 Question Id : 7108709663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

7 fugia o O 9 3 § o srgvdl R enuia g, Fe d Y feam @ &

1. HHFAE

2. UHEldIg

3. §fgdrg

4, 3fIER
Options :
71087038625. 1
71087038626. 2
71087038627. 3
71087038628. 4

Question Number : 88 Question Id : 7108709664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A philosophy that emphasizes instructional and informative qualities in literature and other
types of art is termed as:

1. Dialectical Materialism
2. Dadaism

3. Rationalism

4, Didacticism

Options :

71087038629. 1
71087038630. 2
71087038631. 3
71087038632. 4

Question Number : 88 Question Id : 7108709664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i YT GOR Bl © U1 J SFCITES a4 G- U IR 90 o ald 63 &I ®ed 8 :

1. GaId® Yifdearg
2. Gloldig

3. dHUETG

4, 3UGIEIG

Options :

71087038629. 1
71087038630. 2
71087038631. 3
71087038632. 4

Question Number : 89 Question Id : 7108709665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"A systematised effort to gain new knowledge” is the definition of

1. Hypothesis
2. Research

3. Observation
4. Survey
Options :
71087038633. 1
71087038634. 2
71087038635. 3
71087038636. 4

Question Number : 89 Question Id : 7108709665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T JH U &3 @1 HHES va Fafafad 5 ¥ 59 o1 oty g 2

1. QR THI

2. =Y

3. adH

4, e
Options :
71087038633. 1
71087038634 2
71087038635. 3
71087038636. 4

Question Number : 90 Question Id : 7108709666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



To write the alternative and null hypotheses for an investigation, one needs to identify in the
study:

1. Key Parameters

2. Key Measurements
3. Key Variables

4. Key Factors
Options :
71087038637. 1
71087038638. 2
71087038639. 3
71087038640. 4

Question Number : 90 Question Id : 7108709666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol S @ doicdd® YUl 3fdd IR @ fong- & fore Fafafad 3 9 sragq d faga)
UgdH ®1 HGGdHdl Bldl © :

1. H¥0 Udldd
2. H& HIY4

3. HE WX

4. HE U
Options :
71087038637. 1
71087038638. 2
71087038639. 3
71087038640. 4

Question Number : 91 Question Id : 7108709667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Antonio Gramsci's definition of ‘folk’ constitutes:

A. Subaltern group

B. Rural Peasant

C. Petite Bourgeoisie

D. Urban Proletariat

E. Hegemonic Group

Choose the most appropriate answer from the options given below:

1. A, Cand E only
2. A, B and D only
3.B and C only

4. Cand E only
Options :
71087038641. 1
71087038642. 2
71087038643. 3
71087038644. 4

Question Number : 91 Question Id : 7108709667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ueifat I @1+ T Bt URHIET H 1 - 1 R g 2
A, SUIHT 8

B.ITHIT YD

C. U3T gartadreit

D. Tl FdET

£ Goeadle] S8

A feu v ooyl # € walive Suge I 9T

1. BadA, G E
2. Bad A, B, D
3. ®HadB, C

4. HIAC E
Options :
71087038641. 1
71087038642. 2
71087038643. 3
71087038644 4

Question Number : 92 Question Id : 7108709668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Marriage in which two or more women share a husband is known in kinship terminology as :
A. Cooperative polygyny

B. Adelphic polygyny

C. Sororal polygyny

D. Serial polygyny

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3.Cand D only
4. B and C only
Options :
71087038645. 1
71087038646. 2
71087038647. 3
71087038648. 4

Question Number : 92 Question Id : 7108709668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forg faare o of o1 399 3ifds Afga us ufd &f ign 3dl §, S9®! AIdaR] 31 Tegiaal H [
0§ oHI Al & ?

A. GEURTHD dgidarg Ul
B. USch] dgfddig Wyl
C. [Yd dgfdarg oy

D.5hHd dglddig uyn
i feu T1u fadedl & ¥ Haifte Iuged 3w g :

1. BAAA, C
2. ®ad B, D
3. ®aAC, D
4. HaAB, C
Options :

71087038645.
71087038646.
71087038647.
71087038648.

AW O~

Question Number : 93 Question Id : 7108709669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Green studies popularised the notion of development through the approach of :
A. Anthropocentric

B. Deep Ecology

C. Cultural Ecology

D. Biocentric

Choose the most appropriate answer from the options given below:

1. B and D only
2. A and B only
3.B and C only
4. A and C only
Options :
71087038649. 1
71087038650. 2
71087038651. 3
71087038652. 4

Question Number : 93 Question Id : 7108709669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gRd iegHl = foo IurTHl & Aegd © [GHE &1 YR & A0 §-1a1 Ul 7
A, JeAG-51g

B.Tg UTRIRUfd®I

C. TiEpidd UTRiRids]

D. Silabi=®

A feu v ooyl # € walive Suge I 9T

1. $dd B, D
2. BaA A, B
3. ®aaB, C
4. HAAA, C
Options :

71087038649.
71087038650.
71087038651.
71087038652.

AW O~

Question Number : 94 Question Id : 7108709670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Diaspora Studies as an academic discipline developed based on the issues of
A. Polish Immigration

B. Nazi Holocaust

C. Jewish Question

D. Negro Descent

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and D only
4. Cand D only
Options :
71087038653. 1
71087038654. 2
71087038655. 3
71087038656. 4

Question Number : 94 Question Id : 7108709670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TERU A0 (SUHURI Waiv) Ud APGHd [aud g 98 o1 aFal & YR | [aeid fear
g ?

A, OITCT=T 3M9are=

B. AITwil H8R
C.Ugal U4

D. =11 32 H
2 feu T fowenl © @ wE S g

1. Bad A, B

2. HAAA, C
3. @A B, D
4. HaAC, D
Options :
71087038653 1
71087038654. 2
71087038655. 3
71087038656 4

Question Number : 95 Question Id : 7108709671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the folklore books written by Praphulladatta Goswami
A. Ballads and Tales of Assam

B. Songs and Tales of North - Eastern India

C. An Qutline of Indian Folklore

D. Performing Arts of North East India

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4. B and D only
Options :
71087038657. 1
71087038658. 2
71087038659. 3
71087038660. 4

Question Number : 95 Question Id : 7108709671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U & TaTH gR1 dldardl R fRad J&id! &1 UgdH S :
A. 908Y U8 ¢T3 3/ad

B. I US ¢ 1B A - S5 3had

C. T JT3cdrs 3P 3f807 BidaR

D. WRWBITHT 31ed 36 Y - 3% 38

i f&u e fgoeal 7 9 w5l I gHY

1. Had A, B

2. Pau B, C

3. PAAA, C
4, &9 B, D
Options :

71087038657
71087038658.
71087038659.
71087038660.

AW N =

Question Number : 96 Question Id : 7108709672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The elements in a structure of riddle are
A. Concluding core

B. Descriptive core

C. Analytical core

D. Contradictory core

E. Dialogical core

Choose the most appropriate answer from the options given below:

1.B, C and E only
2. A, B and D only
3. A, CandE only
4.C, D and E only
Options :
71087038661. 1
71087038662. 2
71087038663. 3
71087038664. 4

Question Number : 96 Question Id : 7108709672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TRl P W T F dd &

AfsauiEs Ja

B. qUHTHS Ho

c. fazciyunes g

D. faRtemHd 7

E. §aIg dadi gd

i feu T ooyl # € walivs Iugad I -

1. $ddB, G, E
2. AU A, B, D
3.HAAA, G E
4. HaAC, D, E
Options :

71087038661 1
71087038662. 2
71087038663. 3
71087038664 4

Question Number : 97 Question Id : 7108709673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Robert Allen notes that genre study has primarily remained in function as :
A. Nominological

B. Ideological

C. Typological

D. Rhetorical

Choose the most appropriate answer from the options given below:

1. B and D only
2. A and B only
3.Cand D only
4. A and C only
Options :
71087038665. 1
71087038666. 2
71087038667 3
71087038668. 4

Question Number : 97 Question Id : 7108709673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



RNa¢ UoH @1 fewult & S8R faur srem- wRdd: i =ui | fhamiia @i e 2
AfTTH - Ufogfme
B. dIR®

C. U=UlH®

D. 3ddd
i feu e fasedl ¥ gaifte Iuged 3w g

1. $dd B, D
2. BaA A, B

3. ®AAC, D
4. HAAA, C
Options :
71087038665. 1
71087038666. 2
71087038667. 3
71087038668. 4

Question Number : 98 Question Id : 7108709674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept of proto-legend propounded by Bascom includes the verbal genres :
A. Reminiscences

B. Conundrum

C. Anecdotes

D. Memorate

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. B and C only
Options :
71087038669. 1
71087038670. 2
71087038671. 3
71087038672. 4

Question Number : 98 Question Id : 7108709674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SPIH gRI UfquIGd * Uiel - divis @ /@y § & F O Ifeqe fqu giiERka & 2
A, GEROT

3. ggail

C. ad &Yl

D. HARE

i f&u e fgoeal 7 9 w5l I gHY

1. Bad A, B

2. ®ad B, D
3. HAAA, C
4. HaAB, C
Options :
71087038669. 1
71087038670. 2
71087038671. 3
71087038672. 4

Question Number : 99 Question Id : 7108709675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Vico, Myths represent reality, a reflection of a particular notion which is always
presented through

A. Prosodic Forms

B. Poetic Forms

C. Symbolic Forms

D. Indexical Forms

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and C only
Options :
71087038673. 1
71087038674. 2
71087038675. 3
71087038676. 4

Question Number : 99 Question Id : 7108709675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fam! & AR fryd gurd &1 ufafAfEd &=ar g, o fed! fa2y gRon &1 e ufdfde § ok a8
ed FafaRad o fde Jred I ukgd fear Srdar e 2

A BGUREIY &Y

B. dIdlHd =4

C. UdipTdHD &Y

D. YaDIih® ¥4

- feu e fderedl & ¥ 9el S| g -
1. Bad A, B
2. ®HadB, C
3. @ad B, D
4. HAAA, C
Options :
71087038673.
71087038674.

71087038675.
71087038676.

AW O~

Question Number : 100 Question Id : 7108709676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Max Muller's mythopoeic thought and speech rest on which of the following linguistic
devices?

A. Mythonomy

B. Metonymy

C. Polyonomy

D. Pantonomy

Choose the correct answer from the options given below:

1. B and D only
2. A and D only
3. A and C only
4. B and C only
Options :
71087038677. 1
71087038678. 2
71087038679. 3
71087038680. 4

Question Number : 100 Question Id : 7108709676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HeRd HeR @1 * HUId Bicdd [daR R a1 Rgid FafaRad # € o= Sefda v gidaal )
HYE B 7

A, AU

8. Helf-

c. giferamiEt

D. UeHIE!

i feu e famedl & ¥ 981 I gHY
1. $dd B, D

2. ®@dd A, D

3. HAAA, C

4. HaAB, C

Options :

71087038677. 1

71087038678. 2

71087038679. 3
71087038680. 4

Question Number : 101 Question Id : 7108709677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



J. G. Frazer classified Totemism into

A. Clan totem

B. Moiety totem

C. Sex totem

D. Individual totem

E. Gender totem

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, B and E only
3.B and C only

4. A and B only
Options :
71087038681. 1
71087038682. 2
71087038683. 3
71087038684. 4

Question Number : 101 Question Id : 7108709677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ol St hoR | 2cHaTG @ (HafRad 4ol J sier g -
A. DA TICH

B. %P cIcH

C. Gii-ie TIcA

D. sil <ier

. fam 2ren

i f&u e fgoeal 7 9 w5l I gHY
1.BaAA A, C, D

2. AT A, B, E

3. ®HadB, C
4, BT A, B
Options :
71087038681. 1
71087038682. 2
71087038683. 3
71087038684. 4

Question Number : 102 Question Id : 7108709678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The paradigmatic structural approach resultant analysis can be replicated as it tends to be
both

A. Deductive

B. Inductive

C. Empirical

D. Speculative

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. Cand D only
Options :
71087038685. 1
71087038686. 2
71087038687. 3
71087038688. 4

Question Number : 102 Question Id : 7108709678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EUEad! fugs GRa-TdE® SN URUmH! fGecuur &1 gigdl ol 9ddl 6, difd 98 GHf UPR
FIgl Ahdl & ;

A, FTHTIED

B. HTHATHD
C. HHfdHh

D. URBTHD

1. Had A 3R B
2. HaAAB AR C
3. ®ad A AR D
4. Had C AR D
Options :
71087038685. 1
71087038686. 2
71087038687. 3
71087038688. 4

Question Number : 103 Question Id : 7108709679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who of the following are the scholars of Historical - Geographical Method?
A. Reidar Christiansen

B. Walter Anderson

C. Laurits Bodker

D. Warren Roberts

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3.Cand D only
4. A and B only
Options :
71087038689. 1
71087038690. 2
71087038691. 3
71087038692. 4

Question Number : 103 Question Id : 7108709679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frofafaa & @ tfaeie Jiifte usfa o e &1 ugaq & ;
A. 318X Tohiga—ad

B. dlce? Ua3dH
C. dikey algdR
D.dRA ey

i feu e famedl & ¥ 981 I gHY
1. Had A 3R C
2. HAAB AR D
3. BAAC 3R D
4. Had A 3T B
Options :
71087038689. 1
71087038690. 2

71087038691. 3
71087038692. 4

Question Number : 104 Question Id : 7108709680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Dream theory of Jung brought forth which of the following famous concepts?
A. Persona

B. Individuation

C. Extrovert

D. Archetype

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.B and C only
4. B and D only
Options :
71087038693. 1
71087038694. 2
71087038695. 3
71087038696. 4

Question Number : 104 Question Id : 7108709680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o7 &1 Ty fagia FHafafad | 9 fo- Sdheurail & 9ra- o :

A. HEdc
B. PO

c. dfgddl

D. AEUEU

i feu e famedl & ¥ 981 I gHY
1. Had A 3T B

2. HAA C 3R D

3. HaAB AR C

4. HadB R D

Options :

71087038693. 1

71087038694, 2

71087038695. 3
71087038696. 4

Question Number : 105 Question Id : 7108709681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Proppian ‘function’ consists of

A. Structure of a tale

B. Context of a tale

C. Performance in a tale

D. Action in a tale

Choose the most appropriate answer from the options given below:

1. A and D only
2. B and C only
3. A and B only
4. Cand D only
Options :
71087038697. 1
71087038698. 2
71087038699. 3
71087038700. 4

Question Number : 105 Question Id : 7108709681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g uerE H Feitiad J ¥ e §
A, PYUT BT TG

B. BT BT TaH

C. TYT H UGz

D.®YT H & AUR

1. Bad A AR D
2. HaAAB AR C
3. HaAd A AR B
4. Had C AR D
Options :
71087038697. 1
71087038698. 2
71087038699. 3
71087038700. 4

Question Number : 106 Question Id : 7108709682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the scholars who studied on preliterate ritual performances based on their fieldwork
data:

A. Evans-Pritchard

B. Clifford Greetz

C. Radcliffe-Brown

D. Mary Douglas

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. A and D only
4. Cand D only
Options :
71087038701. 1
71087038702. 2
71087038703. 3
71087038704. 4

Question Number : 106 Question Id : 7108709682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFroafefad 7 9 34 fagrl @1 ugaH sifon, forgiH 31U & o1l S1el & SHR U 31&R FH 4d
HABTH® UeRHI & 3 fddr :

A 3aig fi=s

B. firew

C. ¥Saam gra
DY STag

i feu e famedl & ¥ 981 I gHY
1. A A 3R B
2. Had A 3R C
3. BAATA AR D
4, Had C IR D
Options :
71087038701. 1
71087038702. 2

71087038703. 3
71087038704. 4

Question Number : 107 Question Id : 7108709683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



New Media platforms are commonly considered to include
AL Viber

B. Billboards

C. Twitter

D. Tumbir

E. Linex

Choose the correct answer from the options given below:

1. A and B only

2. B, C and E only
3. A, Cand D only
4. D and E only
Options :
71087038705. 1
71087038706. 2
71087038707. 3
71087038708. 4

Question Number : 107 Question Id : 7108709683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B

2. ®HadAB, C 3R E
3. ®aAA A, C 3R D
4. HaAD ARE
Options :
71087038705. 1
71087038706. 2
71087038707. 3
71087038708. 4

Question Number : 108 Question Id : 7108709684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who linked folklorism as a consciously moulded set of practices and symbols for the process
of modernization and globalization?

A. Herman Bausinger

B. Richard Dorson

C. Roger Abrahams

D. Konrad Ké&stlin

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.B and C only
4. A and D only
Options :
71087038709. 1
71087038710. 2
71087038711. 3
71087038712. 4

Question Number : 108 Question Id : 7108709684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. B S8R
B. @S sA
C. Ao e

D. BTG BREIeH
i feu e famedl & ¥ 981 I gHY

1. &dd A 3R B
2. Had B 3R D
3. PaaB 3R C
4. HITAARD
Options :
71087038709. 1
71087038710. 2
71087038711. 3
71087038712. 4

Question Number : 109 Question Id : 7108709685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Each major development in Anthropology by the French Social Functionalists had

repercussions on:

A. Philosophy

B. History

C. Literature

D. Political Science

Choose the correct answer from the options given below:

1. A and D only
2. A and C only
3.B and C only
4. Cand D only
Options :
71087038713. 1
71087038714. 2
71087038715. 3
71087038716. 4

Question Number : 109 Question Id : 7108709685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A AR D
2. Had A AR C
3. ®HaAAB AR C
4. &ad C AR D
Options :
71087038713 1
71087038714. 2
71087038715. 3
71087038716. 4

Question Number : 110 Question Id : 7108709686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept of ‘Thick Description’ is associated with

A. Richard Hoggart

B. Gilbert Ryle

C. Clifford Geertz

D. Jurgen Habermas

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3.B and C only
4. B and D only
Options :
71087038717. 1
71087038718. 2
71087038719. 3
71087038720. 4

Question Number : 110 Question Id : 7108709686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R C

2. HATA MR D

3. HaAB AR C

4. HadB R D

Options :

71087038717. 1

71087038718, 2

71087038719. 3
71087038720. 4

Question Number : 111 Question Id : 7108709687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The deity 'Vishnu' is associated with the traditional flora of
A. Amalaka

B. Tulasi

C. Bilva

D. Kadamba

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3.Cand D only
4. A and B only
Options :
71087038721. 1
71087038722. 2
71087038723. 3
71087038724. 4

Question Number : 111 Question Id : 7108709687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



&d faw &1 day g TRR® a4 g 2
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1. BaA A, C

2. HAd B, D

3. HAAC, D

4. Hdd A, B

Options :

71087038721 1

71087038722. 2

71087038723. 3
71087038724. 4

Question Number : 112 Question Id : 7108709688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the research method, from the following, examples of ‘Dichotomous Variable' are
A. Gender

B. Age

C. Domicile

D. Race

Choose the correct answer from the options given below:

1. A and D only
2. A and C only
3.B and C only
4. B and D only
Options :
71087038725. 1
71087038726. 2
71087038727. 3
71087038728. 4

Question Number : 112 Question Id : 7108709688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B. 3T
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1. Bdd A, D
2. HAA A, C
3. Had B, C
4. HdAB, D
Options :

71087038725,
71087038726.

71087038727.
71087038728.

AW O~

Question Number : 113 Question Id : 7108709689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The objects of formulative research studies include

A. To gain familiarity with a phenomenon

B. To achieve new insights into a phenomenon

C. To test a hypothesis of a phenomenon

D. To portray accurately a phenomenon

Choose the most appropriate answer from the options given below:

1. A and C only
2. A and B only
3. B and D only
4. Cand D only
Options :
71087038729. 1
71087038730. 2
71087038731. 3
71087038732. 4

Question Number : 113 Question Id : 7108709689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. UREET ¥ 3aiTd il
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D. URYeH] & dRdidd (A0 Sl

i feu e famedl & ¥ 981 I gHY
1. Bad A 3R C

2. Had A 3R B

3. HAA B IR D

4, Had C AR D

Options :

71087038729. 1

71087038730. 2

71087038731. 3
71087038732. 4

Question Number : 114 Question Id : 7108709690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Wilhelm Mannhardt's research on Mythology in the first half of 19'" century validates the
collective efforts of modern-day folklorists through

A. Printed Questionnaires
B. Archival Collections

C. Oral Enquiries

D. Printed Schedules

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. B and C only
Options :
71087038733. 1
71087038734. 2
71087038735. 3
71087038736. 4

Question Number : 114 Question Id : 7108709690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. Higd usTaferi

B. WIdlfcicd UG

c. Aifge fogmand

D. Hfgd oHa=T - ARl
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1. A A 3R B

2. Had B AR D

3. HAd A AR C

4, HAA B AR C
Options :
71087038733. 1
71087038734. 2

71087038735. 3
71087038736. 4

Question Number : 115 Question Id : 7108709691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The communicative means documented in various cultures are :
A. Parallelism

B. Simple codes

C. Disclaimer of performance

D. Natural formulae

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. A and D only
4. B and C only
Options :
71087038737. 1
71087038738. 2
71087038739. 3
71087038740. 4

Question Number : 115 Question Id : 7108709691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R C

2. HAAB AR D

3. BATA MR D

4. BAAB 3R C

Options :

71087038737. 1

71087038738. 2

71087038739. 3
71087038740. 4

Question Number : 116 Question Id : 7108709692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Definition of Folklore Propounder

A, Artistic communication . William Bascom

B. Traditional knowledge in practice Il. Dan Ben-Amos

C. Verbal Art lll. Roger Abrahams
D. Traditional Activities IV. Simon J. Bronner

Choose the correct answer from the options given below:

TA-ILB-IV,C-Il,D-1I
2ZA-IVB-ILC-1,D-1I
SA-LB-U,C-U,D-1IV
4AA-ILBE-IV,C-1,D-11
Options :

71087038741. 1
71087038742. 2
71087038743. 3
71087038744. 4

Question Number : 116 Question Id : 7108709692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-IV,C-Il,D-1I
2ZA-IVB-ILC-1,D-1I
SA-LB-U,C-U,D-1IV
4AA-ILBE-IV,C-1,D-11
Options :
71087038741. 1
71087038742. 2
71087038743. 3
71087038744. 4

Question Number : 117 Question Id : 7108709693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Folk Group Perspective

A. Digital Alien . Colonial

B. Savage Il. Post-colonial
C. Subaltern 1. Nationalism
D. Imagined Community V. Globalisation

Choose the correct answer from the options given below:

TA-IL,B-1,C-1V,D-1I
2ZA-IVB-1LC-II,D-1I
SA-ILB-NL,C-1V,D-1
4AA-LB-IV,C-1I,D- 11
Options :

71087038745. 1
71087038746. 2
71087038747. 3
71087038748. 4

Question Number : 117 Question Id : 7108709693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IL,B-1,C-1V,D-1I
2ZA-IVB-1LC-II,D-1I
SA-ILB-NL,C-1V,D-1
4AA-LB-IV,C-1I,D- 11
Options :

71087038745. 1
71087038746. 2
71087038747. 3
71087038748. 4

Question Number : 118 Question Id : 7108709694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Folk performance  |State

A. Batukamma . Kerala

B. Mohiniattam Il. Maharashtra
C. Koli lll. Punjab

D. Dhad V. Telangana

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-ILB-U,C-1,D-1V
SA-IVB-LC-II,D-1I
4AA-1ILEB-ILC-IV,D-|
Options :

71087038749. 1
71087038750. 2
71087038751. 3
71087038752. 4

Question Number : 118 Question Id : 7108709694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILBE-IWV, C-1I,D-I
2ZA-ILB-U,C-1,D-1V
SA-IVB-LC-II,D-1I
4AA-1ILEB-ILC-IV,D-|
Options :

71087038749. 1
71087038750. 2
71087038751. 3
71087038752. 4

Question Number : 119 Question Id : 7108709695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
Nomenclature Meaning

A. Mythopoeia .. The essential Kernel
B. Mythos Il. Myth - Making

C. Mytheme . A poetic tale

D. Mythoplasm IV. Subject of a Myth

Choose the correct answer from the options given below:

TA-1LBE-UI,C-1V,D-1l
2ZA-ILB-U,C-1,D-1V
SA-ILB-IV,C-I,D-1
4AA-IVB-IILC-1,D-1
Options :

71087038753. 1
71087038754. 2
71087038755. 3
71087038756. 4

Question Number : 119 Question Id : 7108709695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1LBE-UI,C-1V,D-1l
2ZA-ILB-U,C-1,D-1V
SA-ILB-IV,C-I,D-1
4AA-IVB-IILC-1,D-1
Options :

71087038753. 1
71087038754. 2
71087038755. 3
71087038756. 4

Question Number : 120 Question Id : 7108709696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Books Tradition

A. Singer of Tales l. Marriage Tradition
B. Dramas, Fields and Metaphors  |lI. Political Tradition
C. Totem and Taboo IIl. Bardic Tradition
D. The Sanusi of Cyrenaica V. Cultural Tradition

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-ILB-N,C-1V,D-1
SA-IVB-ILC-1,D-1
4AA-1ILB-IV,C-1,D-1I
Options :

71087038757. 1
71087038758. 2
71087038759. 3
71087038760. 4

Question Number : 120 Question Id : 7108709696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILBE-IWV, C-1I,D-I
2ZA-ILB-N,C-1V,D-1
SA-IVB-ILC-1,D-1
4AA-1ILB-IV,C-1,D-1I
Options :

71087038757. 1
71087038758. 2
71087038759. 3
71087038760. 4

Question Number : 121 Question Id : 7108709697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Scholar Term

A. Lauri Honko l. Communitas

B. Victor Turner Il. Gift

C. Milton Singer 1. Multiform

D. Marcel Mauss IV. Cultural Metabolism

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1,C-IV,D-1
SA-IVB-NIL,C-I,D-1
4AA-ILBE-LC-1IV,D-1l
Options :

71087038761. 1
71087038762. 2
71087038763. 3
71087038764. 4

Question Number : 121 Question Id : 7108709697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LBE-UI,C-1,D-1V
2ZA-ILB-1,C-IV,D-1
SA-IVB-NIL,C-I,D-1
4AA-ILBE-LC-1IV,D-1l
Options :
71087038761. 1
71087038762. 2
71087038763. 3
71087038764. 4

Question Number : 122 Question Id : 7108709698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Myth - Ritualist Country

A. James Frazer l. Germany

B. Gilbert Murray Il. England

C. Bronislaw Malinowski IIl. Scotland

D. Walter Burkert IV. Austria - Hungary

Choose the correct answer from the options given below:

TA-IV,E-U,C-1l,D-1
2ZA-LB-IV.C-II,D-1I
SA-ILB-IL,C-1IV,D-1
4AA-ILBE-LC-1IV,D-1l
Options :

71087038765. 1
71087038766. 2
71087038767. 3
71087038768. 4

Question Number : 122 Question Id : 7108709698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,E-U,C-1l,D-1
2ZA-LB-IV.C-II,D-1I
SA-ILB-IL,C-1IV,D-1
4AA-ILBE-LC-1IV,D-1l
Options :
71087038765. 1
71087038766. 2
71087038767. 3
71087038768. 4

Question Number : 123 Question Id : 7108709699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Definition of folklore Scholar

A. Wisdom of the people . Joseph Rysan

B. Learning of the people Il. Andre Varagnac

C. Collective objectification of basic emotions|lll. Sophia Burne

D. Collective thought IV. Y. M. Sokolov

Choose the correct answer from the options given below:

TA-ILBE-IV,C-1,D-1
2ZA-ILB-1L,C-1,D-1V
SA-LB-1IL,C-N,D-1V
4 A-IVB-IIILC-1,D-1
Options :

71087038769. 1
71087038770. 2
71087038771. 3
71087038772. 4

Question Number : 123 Question Id : 7108709699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILBE-IV,C-1,D-1
2ZA-ILB-1L,C-1,D-1V
SA-LB-1IL,C-N,D-1V
4 A-IVB-IIILC-1,D-1
Options :

71087038769. 1
71087038770. 2
71087038771. 3
71087038772. 4

Question Number : 124 Question Id : 7108709700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Place Fair

A. Vautha Mela . Cattle Fair

B. Pushkar ll. Horse Fair
C. Sonepur lIl. Donkey Fair
D. Sarangkhida V. Camel Fair

Choose the correct answer from the options given below:

TA-ILBE-N,C-1,D-1V
2ZA-ILB-IV,C-1,D-1
SA-IVB-ILC-1,D-1
4AA-LB-IILC-IV,D-1I
Options :

71087038773. 1
71087038774. 2
71087038775. 3
71087038776. 4

Question Number : 124 Question Id : 7108709700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILBE-N,C-1,D-1V
2ZA-ILB-IV,C-1,D-1
SA-IVB-ILC-1,D-1
4AA-LB-IILC-IV,D-1I
Options :
71087038773. 1
71087038774. 2
71087038775. 3
71087038776. 4

Question Number : 125 Question Id : 7108709701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Topic & field of study Scholar

A, Texture, Text and Context .. Robert A. Georges

B. Toward an Understanding of Storytelling Events Il. Margaret Mead

C. Some problems of methods in Ethnography lIl. Alan Dundes

D. Problems of the Process: Methods V. Melville J. Herskovits

Choose the correct answer from the options given below:

TA-IV,B-I,C-1IIl,D-1
2ZA-LB-IWV.C-II,D-1
SA-ILB-1L,C-IV,D-1
4 A-ILEBE-N,C-1,D-1IV
Options :

71087038777. 1
71087038778. 2
71087038779. 3
71087038780. 4

Question Number : 125 Question Id : 7108709701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B. 23S U ST TET 3 WIS gdeg |l arie Hig

C.TH UleH 31 HYSH 3 TU=ATh] II. T g4

D UTeare HIE WY : BuUgy v. Aafad of. gdaifaey
e fgu e fadedl o © Oel IR g

TA-IV,B-I,C-1IIl,D-1
2ZA-LB-IWV.C-II,D-1
SA-ILB-1L,C-IV,D-1
4 A-ILEBE-N,C-1,D-1IV
Options :

71087038777. 1
71087038778. 2
71087038779. 3
71087038780. 4

Question Number : 126 Question Id : 7108709702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of Propp’s functions :

A. Unrecognised arrival

B. Recognition

C. Victory

D. Rescue

Choose the correct answer from the options given below

1.D,A B C
2ADCB
3.CDAB
4B, C, D A
Options :
71087038781.
71087038782.
71087038783.
71087038784.

AW O~

Question Number : 126 Question Id : 7108709702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U9 & YDAl & Hol 3FhH F1 6 7

A TR - ARl TS ST

8. Al

c. fawm

D. §d1d

i f&u 7Y fgoedl & @ 981 3w gHU:

1.D, A B3R C
2.A, D, C3RB
3.C, D, A3MREB
4.B,C, D3R A
Options :

71087038781 1
71087038782. 2
71087038783. 3
71087038784. 4

Question Number : 127 Question Id : 7108709703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the tribes - Koya, Chenchu, Konda Reddi, Kurumba - with the following modes of

livelihood:

A. Shifting cultivation

B. Pastoralism

C. Hunting and Gathering

D. Settled cultivation

Choose the correct answer from the options given below

1.D,C A B
2CADB
3.B.D, A C

4. A, B, D, C
Options :
71087038785. 1
71087038786. 2
71087038787. 3
71087038788. 4

Question Number : 127 Question Id : 7108709703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hrsiidm] & HHifbd USRI & Y H oidl, d=, BIST¥s! AR Gl dI 3-IHH &1 gRI ?
A A Gt

B. UR[ARI
C.3Ge - BH 3R 9AG

D. RR [
i feu 7Y fasmedl # 9 981 IR T

1.D, C, A 3R B
2.C,A D3fRB
3.B,D,A3RC
4.A B, D3RC
Options :

71087038785. 1
71087038786. 2
71087038787. 3
71087038788. 4

Question Number : 128 Question Id : 7108709704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the scholars - Jonas Balys, George M. Foster, Johann Gottifried Herder, Charles
Francis Potter - with the following conceptions on folklore :

A. Folklore as romantic creativity

B. Folklore as cultural survivals

C. Folklore as unwritten literature

D. Folklore as a verbal tradition

Choose the correct answer from the options given below

1.B,D,C A
2D,CAB
3CBAD
4. A CB D
Options :
71087038789.
71087038790.
71087038791.
71087038792.

AW O~

Question Number : 128 Question Id : 7108709704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Aidardl &1 YRS & F H 34 fdger! & HH T4 ; o9 aford, S 0. Biex, JeH
BICTFIIS g%, Iy Whiad Ule

A. TidbdTd! T A GoTiddhdl & &0 J
B. TidaTdl U URGIa® SeReifad & & &
C. didardi Us Hfifad difigd & &u H
D<o aTd! Ueh gt W1 & &4 H

- feu Y famedl & 9 Wl 3w g :
1.B,D, C R A

2.D,C, A 3R B
3.C, B, A3IR D
4 A C B3RD
Options :

71087038789. 1
71087038790. 2
71087038791. 3
71087038792. 4

Question Number : 129 Question Id : 7108709705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the scholars - Verrier Elwin, William Marshall, A. Campbell, William Crooke - with the

following tribal studies:

A. Tribal Myths of Orissa

B. The Todas

C. Santal Folktales

D. Tribes and Castes of the North Western Province
Choose the correct answer from the options given below

1.D,C A B
2CBAD
3.A,B,CD
4B, C A D
Options :
71087038793. 1
71087038794. 2
71087038795. 3
71087038796. 4

Question Number : 129 Question Id : 7108709705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fgifdrd sHedig HergAl & HTOR [dgsHl of B3 9 Tl : dRER uleaq, fafeas A,
U e, fafean oo

A. TI39d A5 A{1E HIfS=m
3.5 CIgy

C. 9drd Bidcd
D. TI3ed US ®Ied 3i1h § Al - d¥e Uifa-g

1.D, C, A 3R B
2.C,BASMRD
3.A B C3RD
4.B,C, AJARD
Options :

71087038793 1
71087038794. 2
71087038795. 3
71087038796. 4

Question Number : 130 Question Id : 7108709706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the traditional theatre forms of - Madhya Pradesh, Assam, Goa Kerala - with the
following

A. Krishnattam

B. Maach

C. Bhaona

D. Dashavatar

Choose the correct answer from the options given below

1. A CBD
2D ACB
3.CD,B A
4B, C, D A
Options :
71087038797. 1
71087038798. 2
71087038799. 3
71087038800. 4

Question Number : 130 Question Id : 7108709706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FHifthd & A1y AYCE, 39, BId 3R 711dl & UNURE o Weyl @l da g
A. U

3. Al

C. HIIAT

D. GMdd}

i f&u 7Y fgoedl & @ 981 I gHU:
1.A,C B3R D

2.D, A C3RB
3.C, D, B3RA
4.B,C, D3R A
Options :
71087038797 1
71087038798. 2
71087038799. 3
71087038800. 4

Question Number : 131 Question Id : 7108709707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the scholars who are connected with - Migration, Evolution, Acculturation, Super
Organic - theories :

A. A. 5. Goldenweiser
B. Alfred Kroeber

C. Axel Olrik

D. Theodor Benfey

Choose the correct answer from the options given below

1.C,B,AD
2.D,ABC
3A,CBD
4.B,A D C
Options :
71087038801.
71087038802.
71087038803.
71087038804.

AW O~

Question Number : 131 Question Id : 7108709707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wa, [Ae, REwpiaasyl, it Risidal ¥ 93 [dgel @l dH ¢ -
A UTH, TeeHaigeR

B. UAhS BlaR

C. TR SHICiRD

D. ISR 4k

- feu Y famedl & 9 Wl 3w g :

1.C, B, AR D
2.D,A, B3R C
3.A CB3RD
4.B, A D3R C
Options :

71087038801. 1
71087038802. 2
71087038803 3
71087038804. 4

Question Number : 132 Question Id : 7108709708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct group of Folk Narratives:

A. Folktale

B. Fabulate

C. Drama

D. Performance

E. Memorate

Choose the correct answer from the options given below:

1.ACD
2B CD
3.A,B E
4.D,EC
Options :
71087038805. 1
71087038806. 2
71087038807 3
71087038808. 4

Question Number : 132 Question Id : 7108709708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dic R & Fel THE B UgaH &1 :
A. Tib® YT

B @ eUHT AR Sl

C.AledH

D. e

£, HARE

i f&u ¢ famedl # 9 Wl I g :

1A, C 3RD
2.B,C3ARD
3.ABIRE
4.D,E3RC
Options :
71087038805. 1
71087038806. 2
71087038807. 3
71087038808. 4

Question Number : 133 Question Id : 7108709709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the concepts - Cyberspace, Hypertext, Popular cyber culture, Cyborg Manifesto -
with their propounders:

A. William Gibson

B. Ted Nelson

C. David Silver

D. Donna Haraway

Choose the correct answer from the options given below

1. A BCD
2CDAB
3.D,B,C A
4.B,A D C
Options :
71087038809. 1
71087038810. 2
71087038811. 3
71087038812. 4

Question Number : 133 Question Id : 7108709709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S aEd, TRWRCHe, AIdd Ulgas Uephid, Gsai| 9I9uNgs B HaURON & UduGd! &f Tl
FHG

A, fafcrgs fisaa

B. T8 Hee

c3fas e

D391 5d

i f&u ¢ famedl # 9 Wl I g :
1.A B, C3RD

2.C, D, A3RB
3.D,B, C3RA
4.B, A D3R C
Options :

71087038809. 1
71087038810. 2
71087038811. 3
71087038812. 4

Question Number : 134 Question Id : 7108709710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the plants - Bel, Asoka, Neem, Kadamb - with the deities:
A. Krishna

B. Siva

C. Chamunda

D. Dhanvantari

Choose the correct answer from the options given below

1. A DCB
2CADB
3.B.CD A
4.D,A B, C
Options :
71087038813.
71087038814.
71087038815.
71087038816.

AW O~

Question Number : 134 Question Id : 7108709710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o, 31211, 1H 3R ®ad & Ul fb cadiei § Hefdd g 2

A BT
B.2E

CAmST

D. ¥=gdiR

i f&u 7Y fgoedl & @ 981 I gHU:
1.A, D, C3R B

2.C, A D3RB
3.B,C,D3RA
4.D, A B3R C
Options :
71087038813 1
71087038814. 2
71087038815. 3
71087038816. 4

Question Number : 135 Question Id : 7108709711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the research method - Survey, Experimental, Hermeneutic, Ethnographic - with the
approaches:

A. Texual approach

B. Quantitative approach

C. Field approach

D. Qualitative approach

Choose the correct answer from the options given below

1.C,B,AD
2ADCB
3.D,A B C
4.B,D, A C
Options :
71087038817. 1
71087038818. 2
71087038819. 3
71087038820. 4

Question Number : 135 Question Id : 7108709711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fgifdd g Tsiadl B 39d SUNTHl & SHTHR 59 G : HdalUl, Wi, Wsard HiAEr 3R
I

A UISTd JUTTH

B. HIAIHd JUNTH

C. &7 JUFH

D. TUG0IR® 39ATH
d feu T1u fadedl ¥ 981 IR 9T
1.C,B, A 3R D

2.A, D, C3RB
3.D,A B3R C
4.B,D, AR C
Options :

71087038817. 1
71087038818. 2
71087038819. 3
71087038820. 4

Question Number : 136 Question Id : 7108709712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Max Muller's Solar Mythology was devolutionary and discovers that the folklore
of the present was but a dim reflection or a broken-down myth.

Reason R: Max Muller viewed that all peoples and cultures evolved in a fixed, orderly
progression of stages, hence ontogeny can recapitulate phylogeny.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038821. 1

71087038822. 2

71087038823. 3

71087038824. 4

Question Number : 136 Question Id : 7108709712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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d (R) : Hed HeR B 71 4T for il el ok S fad! &1 U drulfds G, sie
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Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) 31R (R) GHT G818 U (R), (A) P Hg! of AT el 5
3. (A) 981 & TR (R) ¥ol T &

4. -(A) TET9IEI § W3] (R) ¥l &

Options :

71087038821. 1

71087038822. 2

71087038823. 3

71087038824. 4

Question Number : 137 Question Id : 7108709713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Dell Hymes distinguishes between 'performance’ and 'behaviour’, for,
performance emerges from a context of a specific quality of knowledge.
Reason R : For Austin, that knowledge consists of ‘conventions’ to which the act confirms.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038825. 1

71087038826. 2

71087038827. 3

71087038828. 4

Question Number : 137 Question Id : 7108709713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. (A) WE1 & U (R) W1 81 |

4. () Ul Tol 8 g (R) W&l &

Options :

71087038825. 1

71087038826. 2

71087038827. 3
71087038828. 4

Question Number : 138 Question Id : 7108709714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: According to Victor Turner, ‘communitas’ is not merely instinctual: it involves
consciousness and volition.

Reason R: A status reversal in the Holi festival is exemplified in the ritual dominance of
structural superiors, their blunt speaking and rough doing.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038829. 1

71087038830. 2

71087038831. 3

71087038832. 4

Question Number : 138 Question Id : 7108709714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) 31R (R) GHT G818 U (R), (A) B eI ogREAT Tal 5
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087038829. 1

71087038830. 2

71087038831. 3

71087038832. 4

Question Number : 139 Question Id : 7108709715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Tourism itself has become a culture or a way of life and hence all tourism, in a
way, is cultural.

Reason R: The increasing pace of life and the feeling of disorientation has resulted in the
growth of nostalgia which in turn, ensured the progression of the heritage industry.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038833. 1

71087038834. 2

71087038835. 3

71087038836. 4

Question Number : 139 Question Id : 7108709715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) 31R (R) GHT G818 U (R), (A) B eI ogREAT Tal 5
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087038833. 1

71087038834. 2

71087038835. 3

71087038836. 4

Question Number : 140 Question Id : 7108709716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Ethnography is defined as an open-ended emergent process of learning to
understand the emic meaning.

Reason R: Ethnography is then a rigid investigator-controlled experiment and a process of
discovery, making inferences and continuing inquiry.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038837. 1

71087038838. 2

71087038839. 3

71087038840. 4

Question Number : 140 Question Id : 7108709716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038837. 1

71087038838. 2

71087038839. 3
71087038840. 4
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Read the given passage and answer the questions that follow

Metananrration, then, may be said to combine those forms of self - commentary that Bateson
distinguished as metacommunicative and metalinguistic. In a metacommunicative utterance,
"the subject of discourse is the relationship between speakers (e.g., 'my telling you where to
find the cat was friendly, ' or 'this is play’)"; in a metalinguistic comment, "the subject of
discourse is the language (e.g.,’ The word, cat, has no fur and cannot scratch’)" (Bateson
1972 [1955] : 178). Jakobson similarly defines the metalinguistic function as speech that is
focused on the code and on the problems involved in decoding the message. Insofar as it may
refer to the performance setting, the performance itself and the genre to the which it belongs,
and / or the performer and his audience, a metanarrational comment may refer to any of the
factors constituting the speech event and may be either metacommunicative or
metalinguistics or both. More specifically, metanarration usually involves a combined emphasis
on what Jakobson describes as the metalinguistic function: the phatic function, a focusing on
the medium of communication, the channel; and the poetic function, the "set to the message’
or attention to the message for its own sake (Jakobson 1960:353-58). By this | do not mean to
imply that metanarrative devices do not focus on other factors of the narrative event, but
simply that the majority of such comments refer to the code, message, or channel of narrative
communication. In metanarration the subject of discoure is the narrative itself and those
elements by which it is constituted and communicated.

Examples such as those reported by Dundes and more recently by Ben-Amos (1974) in which
the story, joke or proverb actually turns on the reference to the code are important as explicit
instances of metafolklore.

Sub questions

Question Number : 141 Question Id : 7108709718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Metanarration as ‘'metacommunicative’ and ‘metalinguistic’ was distinguished by

1. Dundes

2. Jakobson

3. Ben-Amos
4. Bateson
Options :
71087038841. 1
71087038842. 2
71087038843. 3
71087038844. 4

Question Number : 142 Question Id : 7108709719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jacobson defines metalinguistic function as

A. Speech code

B. Encoding the discourse

C. Decoding the message

D. Performance code

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and C only
3.B and D only
4. B and C only
Options :
71087038845. 1
71087038846. 2



71087038847. 3
71087038848. 4

Question Number : 143 Question Id : 7108709720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Metanarrative devices refer to the

A. Elements of the story

B. Message

C. Event

D. Channel of narrative communication

Choose the most appropriate answer from the options given below:

1. A and B only
2.Cand D only
3. A and C only
4. B and D only
Options :
71087038849. 1
71087038850. 2
71087038851. 3
71087038852. 4

Question Number : 144 Question Id : 7108709721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which statement is NOT correct?

1. Metanarrative devices focus on the factors of the narrative events.

2. Metalinguistic and communication are forms of self commentary.

3. Story, joke or proverb are implicit examples of metafolklore.

4. Metanarration involves a combined emphasis on metalingustic function.
Options :

71087038853. 1

71087038854. 2
71087038855. 3
71087038856. 4

Question Number : 145 Question Id : 7108709722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List I

Discourse Subject

A. Metanarration . Relation between speakers
B. Metacommunication |ll. Language

C. Metalinguistic lll. Code

D. Metafolklore IV. Speech event

Choose the correct answer from the options given below:

TA-ILB-IV,C-1l,D-1
2A-IV,B-1LC-ILD-1N
S3A-ILB-ILC-IM,D-1
4 A-L,B-ILC-1,D -1V

Options :
71087038857. 1



71087038858. 2
71087038859. 3
71087038860. 4

Question Id : 7108709717 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 7108709718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafafaa d ¢ fogq siffiemers & -sifigar 3R sifguiftes & wu o faufea far ur

1. gf=d

2. S o8

3. §49-0H"

4. GITH
Options :
71087038841. 1
71087038842. 2
71087038843. 3
71087038844. 4

Question Number : 142 Question Id : 7108709719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Simea A SHUYIN® Ue™ & fog ¥u § ghyitd fear g 2

A. A% e
g. fam2l @l Bedg Bl

C. Tex 31 [agdiaA
D. UGEH $e
- 68 T f[d@edl H ¥ 98 S g :

1. Bad A, B

2. HAAA, C
3. @A B, D
4. HaAB, C
Options :
71087038845 1
71087038846. 2
71087038847. 3
71087038848, 4

Question Number : 143 Question Id : 7108709720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. gel
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A feu v ooyl # ¥ wallve Suge I 9T

1. Bad A, B
2. ®aAC, D
3. HAAA, C
4. HEdAB, D
Options :

71087038849.
71087038850.
71087038851.
71087038852.

AW O~

Question Number : 144 Question Id : 7108709721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038853. 1

71087038854. 2




71087038855. 3
71087038856. 4

Question Number : 145 Question Id : 7108709722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.(A-1), (B-1IV), (C-1),(D-1)
2Z(A-IV), (B-1),(C-1),(D-1m
3.(A-1),(B-1), (C-I),(D-1I)
A4 (A-1), (B-HI), (C-1),(D-1V)
Options :

71087038857. 1

71087038858. 2

71087038859. 3

71087038860. 4

Sub-Section Number : 3
Sub-Section Id : 710870250
Question Shuffling Allowed : Yes

Question Id : 7108709723 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (146 to 150)



Question Label : Comprehension

Read the given passage and answer the questions that follow

The term limen itself, the Latin for "threshold,” selected by van Gennep to apply to "transition
between,” appears to be negative in connotation, since it is no longer the positive past
condition nor yet the positive articulated future condition. It seems, too, to be passive since it
is dependent on the articulated, positive conditions it mediates. Yet on probing, one finds in
liminality both positive and active qualities, especially where that “thres-hold" is protracted
and becomes a "tunnel,” when the "liminal” becomes the “cunicular”; this is particularly the
case in initiation rituals, with their long periods of seclusion and training of novices rich in the
deployment of symbolic forms and esoteric teachings. "Meaning” in culture tends to be
generated at the interfaces between established cultural sub-systems, though meanings are
then institutionalised and consolidated at the centres of such systems. Liminality is a temporal
interface whose property partially invert those of the already consolidated order which
constitutes any specific cultural "cosmos”. It may be useful heuristically to consider in relation
to liminality in ritual / myth. Durkheim’s overall characterization of "mechanical solidarity”,
which he regarded as that type of cohesion plus cooperative, collective action directed
towards the achievement of group goals which best applies to small, nonliterate societies with
a simple division of labor and very little tolerance of individuality. He based this type of
solidarity on a homogeneity of values and behaviour, strong social constraint and loyalty to
tradition and kinship. The rules for togetherness are known and shared. Now what frequently
typifies the liminality of initiation ritual in societies with mechanical solidarity is precisely the
opposite of this: ordeals, myths, maskings, mumming, the presentation of sacred icons to
novices, secret languages, food and behavioural taboos, create a weird domain in the
seclusion camp in which ordinary regularities of kinship, the residential setting, tribal law and
custom are set aside. The bizarre becomes the normal, and though the loosening of
connections between elements customarily bound together in certain combinations, their
scrambling and recombining in monstrous, fantastic and unnatural shapes, the novices are
induced to think (and think hard) about cultural experiences they had hitherto taken for
granted.



Sub questions

Question Number : 146 Question Id : 7108709724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following terms is dialectical in nature?

1. Cunicular

2. Transition

3. Cosmos

4, Liminal
Options :
71087038861. 1
71087038862. 2
71087038863. 3
71087038864. 4

Question Number : 147 Question Id : 7108709725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Long periods of seclusion of novices in the initiation rituals makes liminality to be a
A. Cosmos

B. Tunnel

C. Threshold

D. Cunicular

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and D only
3.B and C only
4. Cand D only
Options :
71087038865. 1
71087038866. 2
71087038867. 3
71087038868. 4

Question Number : 148 Question Id : 7108709726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Durkheim's ‘'mechanical solidarity’ is a heuristic model.
Reason R: For Durkheim's solidarity, applies to literate societies which have little tolerance for
individuality.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038869. 1

71087038870. 2

71087038871. 3

71087038872. 4

Question Number : 149 Question Id : 7108709727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequence the concepts as they appear in the passage:

A. Novice

B. Mechanical solidarity

C. Transition

D. Taboos

Choose the correct answer from the options given below

1.C,ABD

2 A B CD
3.CB DA

4. A CB D
Options :
71087038873. 1
71087038874. 2
71087038875. 3
71087038876. 4

Question Number : 150 Question Id : 7108709728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
Concept Meaning
A. Limen l. Homogeneity of values

B. Mechanical solidarity|ll. Seclusion camps

C. Culture l1l. Tunnel

D. Initiation Rituals IV. Institutionalized system

Choose the correct answer from the options given below:

TA-LB-1N,C-IV,D-1
2ZA-ILB-1,C-IV,D-1I
3A-IV,B-1I,C-1,D-1I
4 A-ILB-IV,C-1I,D-1
Options :

71087038877. 1
71087038878. 2
71087038879. 3
71087038880. 4

Question Id : 7108709723 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 7108709724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. N

2. A1 ®

3. G A

4. URGH
Options :
71087038861. 1
71087038862. 2
71087038863. 3
71087038864. 4

Question Number : 147 Question Id : 7108709725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038865. 1
71087038866. 2
71087038867. 3



71087038868. 4

Question Number : 148 Question Id : 7108709726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038869. 1

71087038870, 2

71087038871. 3
71087038872. 4

Question Number : 149 Question Id : 7108709727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.C,ABD

2 A B CD
3.CB DA

4. A CB D
Options :
71087038873. 1
71087038874. 2
71087038875. 3
71087038876. 4

Question Number : 150 Question Id : 7108709728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4 A-ILB-IV,C-1I,D-1
Options :

71087038877. 1
71087038878. 2
71087038879. 3
71087038880. 4




